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Introduction

Welcome to the second book in Milestone Maths level C. This book contains 40 lessons and is intended
to be used by an average student in term two of year two in an Australian school year. This allows for
four lessons per week in a regular term. If desired, the fifth day may be used to complete any outstanding
work, for review, or extension or for some of the practical/enrichment activities that are suggested from
time to time in this book and on the Milestone Maths website. You may also elect to complete a drill
on the fifth day or to take a break from maths. Please see the next page for advice on how to structure
and pace lessons for children with special needs.

RESOURCES

The only essential resource for this curriculum is a set of Sumstix (also known as Cuisenaire rods). These
may be purchased from the same place that you obtained this book. Optional resources include Number
Bond Flashcards and Number Game Cards. Check the Milestone Maths website for details.

www.milestonemaths.com.au

PARENT INVOLVEMENT

Milestone Maths is designed to foster independent learning as quickly as possible. For this reason, parent
instructions are kept to a minimum and are contained within this book. The next few pages contain
introductions to each of the milestones and some teaching notes for selected lessons. Tt would be a good
idea to consult these pages when your child commences each milestone If you child is not yet reading,
you will have to read the instructions for each lesson.

At this level, it is still advisable to demonstrate examples practically whenever possible. So, when counters
or Sumstix are drawn in the student instructions and examples, you should recreate the same examples
using actual concrete materials - use whatever items you fancy for counters (buttons, beans, beads, small
toys, found natural materials etc) when required. Also, when algorithms are described in the text, it would
be a good idea to demonstrate the same examples by writing out each example on a separate piece of
paper or a black/whiteboard one step at a time. After you have completed the demonstration, which
should only take a few minutes, should read the instructions to your child and and then allow them to
complete the rest of the lesson on their own. You may need to read word problems or instructions for
review activities that are not yet familiar to the child.

QUESTIONS OR COMMENTS?

If you have any questions whatsoever about any aspect of this course's implementation, or if you need
help understanding any maths related concept, please do not hesitate to contact the author at

author@milestonemaths.com.au

Hil Cookie Kookaburra is back to help you learn more
exciting maths.

This term we'll learn how to count to one thousand and
how to skip count by hundreds, twos and fives. We'll
also learn all about adding and subtracting two-digit
numbers.

So get ready to do some maths!

For Joshua
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EXTENSION WORK

Some activities in this book are marked with a graduation cap icon,@These activities are more
challenging and intended to stimulate the more advanced students. Use your discretion as to whether
require your child to attempt these activities. If the child is keen to have a go, let them do so, but give
them help as and when they need it but respect their wishes if they refuse help - the struggle to find the
solution will do them the world of good.

DRriLLS

Drills are an essential part of learning in mathematics. A drill is located at the end of every lesson. If
your child does not have the patience to do these drills, please see the Milestone Maths website for
suggested alternatives. Visit milestonemaths.com.au/not-negotiable/

ADAPTATIONS FOR CHILDREN WITH SPECIAL NEEDS
If your child has special learning needs, there are a number of adaptations possible.

For older yet illiterate students: you should read all instructions to the student just as you would to a young
child that is still learning to read.

For children who have difficulty writing: you may act as scribe and have the child tell you what to write.
When numbers or equations are required, have the child "build" the answers using the number game cards.
Also, you may use the number bond flashcards for drills instead of the written drills or you could treat the
written drills as oral drills until writing is easy. Unless the child has a physical handicap that makes writing
difficult or impossible, I would suggest that you gently encourage them to do more and more writing on their
own every day. Begin by taking turns with the pencil - you write one number then the child writes one, etc and
slowly increase the amount of writing that your child does until they achieve independence.

For children who need a slower pace: some lessons could consist entirely of warm up/review activities or
the student book activities could be assigned over two or more days.

Extra writing practice can be done on a reusable drawing board (eg whiteboard, LCD tablet, etc.), on scrap
paper or in a separate exercise book.

For children who need a faster pace: If your child is finding the lessons very casy and is learning the
concepts quickly, you may consider doing two lessons a day and completing the Review and Practice scction of
only one of the lessons. Special care needs to be taken that the child is mastering the drills at this pace as well.
Over learning is always a good thing however, a particularly bright child will need to be challenged to maintain
motivation.




Parent Notes

Milestone 6

INTRODUCTION

This milestone is an extension of Milestone 2.
Place value is taught in Milestone Maths purely as
much as it is helpful for solving various
mathematical problems at this stage. In the next
two milestones, the student will see how a basic
understanding of place value is useful when trying
to add or subtract multidigit numbers.

CONCEPTS AND SKILLS TAUGHT

¢ Counting to 1000 and the patterns inherent in
our base 10 number system.

¢ Reading and writing numbers to 1000.
* The importance of the number 10.

* Writing three-digit numbers on a place value
chart and in expanded form.

* Counting by 100's.

* Bundling objects into 10s and 100s to facilitate
counting.

PRACTICE IDEAS

Give your child plenty of practice in counting and
reading numbers. One way to practice reading
numbers it to have your child read numbers up to
1000 where ever you see them: on road signs, on
number plates, labels and packaging, etc.

LessoN NoOTEs

LessoN 41

To give your child practical experience with this
concept, you could get a bag of craft sticks or
match sticks and have them bundle them into tens
and then group the tens into hundreds.

The last activity on the Review and Practice page
may be challenging for some children. Try to guide
the student rather than solving the whole thing for
them. Start with the bottom equation to find the
value of the square. At that point the other two
equations become simple missing number problems.

LESsON 42

This lesson  requires significant  teacher
involvement listening to the student reading the
numbers but it need not take too long. This
should be an enjoyable exercise for the student so
do not labour it. To avoid tedium, it would be best
to only 'play' with the spinner for a minute or so
and then repeat the activity as the introduction to
the next couple of lessons.

Note that the word problem in the Review and
Practice can be solved at least two ways: or by
setting up a missing number equation:

(5+_ =12

There is often more than valid one way to
approach a problem as we see in this example, so
finding alternative ways to solve a problem should
be encouraged.

Milestone 7

INTRODUCTION

This is the first milestone dealing with addition
and subtraction of two-digit numbers. Only
problems that do not involve regrouping are
studied in this milestone to give plenty of practice
with the concept before the complication of
regrouping is introduced.

A slow gentle introduction is given to addition
with lots of practice. Then the idea is extended
to subtraction. For slower students it may be
necessary to repeat the sequence of lessons from
45-48 for subtraction. If this is the case, pause
the lessons for a few days and adapt lessons 45-
48. You may invert the addition examples from
45-48 and have the child do them using the same
tools. So, for example, instead of 23 + 34 (=57)
the child will solve 57-23 (or 34). Blank grids
appear at the back of this book to facitilate this
extra practice.

CONCEPTS AND SKILLS TAUGHT

¢ Adding 2-digit numbers with Sumstix. This
lesson is purely a proof of concept. The child
should be encouraged to dispense with
Sumstix as soon as possible for addition of
big numbers.

Milestone 8

INTRODUCTION

This milestone introduces mental strategies involving
a number chart for adding larger numbers.

The Milestone Maths practice mat and number
chart will be helpful here but any number chart
that is arranged in rows of 10 and ranges from 1
to 120 will do.

CONCEPTS AND SKILLS TAUGHT
¢ Adding and subtracting 10.

¢ Adding and subtracting 9.

*  Completing number chart "puzzles" by
finding the missing numbers in a random
piece of a number chart.

* Skip counting by 10s from an arbitrary
starting point.

LessoN 57

The "Count by tens" activity on the Review and
Practice page is an extension of this idea. You
should show the student that to find the sequence
they only need to read down the column on their
number chart.

LEssoN 59

Being familiar with a number chart and finding
the missing values in these 'picces' of a number
chart is excellent mental calculation practice and
will also help to develop number sense. The
exercise is also very much like a puzzle which
helps to make it enjoyable.

Milestone 9

INTRODUCTION

Skip counting is not only a good introduction to
multiplication, it is a useful skill in and of itself.
This Milestone teaches skip counting by exploiting
the obvious patterns on the number chart. The
Review and Practice activities for the rest of the
year practice this skill. The child may use a
number chart to help with these counting
activitics initially but they should be encouraged
to give up the chart as soon as possible.

Skip counting is applied to counting money in

o

Milestone 12. You could motivate the lessons in
this milestone by previewing Milestone 12 and
showing your child how to count real two dollar,
five cent and ten cent coins.

The child should be very familiar with the skip
counting patterns for 2, 5 and 10 by the time
multiplication is introduced formally in Milestone
13.

GAME IDEA

Play a variation on "Duck, Duck, Goose" where
players take turns counting with a twist.

Two or more players are required. Choose one to
be the leader. The leader chooses a noise (for
example "beep" or "quack") and a "noisy number"
(2, 5 or 10 the game can be extended as the
children learn to skip count by other numbers).

The leader begins the count and the players take
turns counting but they do not say any of the
multiples of the "noisy number". Instead, they
should make the noise. So, if the noisy number is
two, the leader says, "one," the next child says,
"beep," the next child says, "three" and the next
child says, "beep," etc. If a child says the number
instead of a sound, they are out. Last one in is
leader for the next round.

LESSON 62

Ensure that the student completes the table
across the rows so that they get practice counting
by twos rather than counting by tens.

It would be a good idea to have the child read the
numbers out to you once they have finished
writing them.

You can also practice skip counting by counting
in turns. You say, "one," the child says, "two," you
say, "three," the child says, "four," etc until you
reach 100.

LessoN 63

This lesson is a transition to skip counting without the
help of the chart. It also presents an application of skip
counting to the child. Help your child as needed.

LEssoNs 64-68

The remainder of this milestone repeats the same
sequence for counting by fives and then gives further
practice skip counting by both twos and fives.

=

¢ Adding 2-digit numbers on a place value mat.
A "hands-on" introduction to the next skill.

¢ Adding 2-digit numbers on a place value
chart. The first step towards a pencil and
paper algorithm.

¢ Adding 2-digit numbers on paper. A basic
pencil and paper algorithm is introduced.

* Using place value knowledge to add 2-digit
numbers mentally. This is straightforward
when no regrouping is involved.

*  Subtracting 2-digit numbers on paper. A basic
pencil and paper algorithm is introduced.

*  Subtracting 2-digit numbers manually.

LeEssoN 45

This lesson is an example of how we will
eventually transition the child away from using
Sumstix to mental or pencil and paper methods.

For more complicated problem solving tasks,
Sumstix will eventually be replaced with bar
models and other graphical methods. This will
only be hinted at later this year when we study
fractions and will begin formally next yeat.

LEssoN 46

This lesson introduces the concept of adding together
two, two-digit numbess. We use the place value mat
as an introduction to the pencil and paper algorithm.
The place value mat appears at the back of this book.
Keep it safe, perhaps in an envelope or sheet
protector, as it will be used often during this term.

GAME IDEA

This could be competitive or a solitary game.
Set up (using Number Game Cards deck)
Create two special card decks by selecting cards:
Deck one: all the digit cards with a face value of 0-4

Deck two: all the two digit numbers where both
digits are less than nine.

The above restrictions ensure that the child will
not need to deal with regrouping at this stage.

How to play

The dealer turns the top card of deck 2 face up.

‘The players draw four cards from deck one and try to
arrange them into a sum to get as close as possible to
the two-digit number. If playing competitively, each
player draws four digit cards and the one who gets
closest to the card value wins the round. If two players
make the same total, the first to complete it wins.

Allow the children to use scraps of paper for
working if they need it.

If you don't have the Number Game deck, use
the digit cards from the back of this book and
two dice. The dice are rolled and the two numbers
showing ate then used to compose the 2-digit
number. If you use dice of different colours, you
can assign one to be the tens digit and the other
to be the ones digit.

LeEssoN 51

This lesson introduces a mental strategy for
adding two-digit numbers. As the instruction in
the student book implies, mental strategies are
only useful if the student has the basic number
facts mastered to the point of instant recall.

In this course, various methods to solve a given
class of problem are presented and the student is
given freedom to choose which one to use. This
encourages creative thinking by encouraging the
child to come up with their own methods and also
promotes the development of number sense.

LessoN 53

With the foundation laid thus far in the milestone,
this lesson should be relatively easy for your child.
However, if your child does have difficulty
understanding the concept, pause work in this
workbook and repeat the sequence given in lessons
45-48 but for subtraction. You can invert the
examples and questions given in lessons 45-48 for this
purpose. So, for example, the first problem in lesson
45 is 34 + 21 (= 55). When repeating the lesson for
subtraction you would give your child the problem 55
- 34 (or 55 - 21). For a drill exercise on these days you
could either use flashcards or do the drills in the
workbook for lessons after 49 as oral drills.

GAME IDEA

Extend the addition game given on page 6 to
allow subtraction. The players can decide whether
they want to use addition or subtraction to come
up with the number. In this case you will need to
include all the digit cards and the players may
need help until they learn about regrouping.

Milestone 10

INTRODUCTION

This  milestone introduces addition and
subtraction where regrouping is required. It
follows a similar sequence to milestone 7. Because
the concepts are more difficult to understand,
they are carefully demonstrated with Sumstix
before algorithms are introduced.

Practicing algorithms gives plenty of practice at
recalling the basic number facts. Unless these
basic number facts are ovetlearned, the mental
methods that are taking precedence over
algorithms in the modern classroom are, at best
cumbersome, and at worst, useless to the child.

With the logical thinking ability developed through
practicing pencil and paper algorithms, and a firm
grasp of the basic number facts, mental methods
can then be applied with skill and ease.

Because logical thinking and calculation skills are
developed in understanding this process, it is
recommended that you do not move forward until
your child understands, and is able to easily
complete, each lesson. If you need to pause for a
few days and practice one of the steps. Do so.

There are few things as important to the future
success of your child in mathematics as these
foundational skills.

LESsON 69

This lesson introduces addition where regrouping
(or carrying) is necessary. You might need to do
several examples with your child before they get the
idea. If this concept is difficult for your child to
understand, spend two or three days on this lesson.
The first day/s you should only do the following
practical activity and an oral drill. The last day the
child can complete the workbook lesson.

Separating the Sumstix into tens and units is key
to understanding the concept of carrying when
we get to the pencil and paper algorithm.

PRACTICAL ACTIVITY

Use four ten-sided dice or four piles of digit cards
(see back of this book). Shuffle the cards and
draw one card from each pile and turn them over
or throw the dice. Form two, 2-digit numbers
using the digits showing. Write out the sum on a
piece of paper (preferably with a grid printed on

it - see back of this book) and have your child
solve it (or demonstrate the solution until they
understand the concept and are able to solve the
problem on their own). You may skip numbers
where there will not be any regrouping required
or, to increase the likelihood of generating
problems with regrouping, you could remove the
digits 0-5 from one of the piles.

LEssoN 70

While Sumstix are used to prove the result to the
child, the child should be encouraged to do the
sums on the place value mat.

Remind the child that they are only concerned
with calculating one column at a time. When they
have three numbers to add together in the
column, they should add two of them together
then add the third one to the total.

If you read the directions in the Student Book to
the child carefully and then demonstrate the
process, they should soon get the idea.

You may use examples from Skill Drill series 8 in
the Student Book for extra practice with the child
before they work on the riddle independently.

GAME IDEA

The addition game introduced in Milestone 7 can
now be extended to include regrouping, All the single
digit cards can now be included in deck one and all
the two-digit cards can be included in deck two.

LessoN 71

This is the pencil and paper version of last lesson.
You should model the process a few times for
your child on a separate sheet of grid paper (see
back of book) before allowing them to work on
the lesson independently.

You can also make a sum on a place value mat then
wtite it out on a place value chart drawn on grid
paper to link the previous lesson with this one.

LESsON 72

The scaffold of the place value chart is now taken
away. By now your child should be getting the
idea. If you need to, pause and spend a few days
practicing with the place value mat and place
value chart before moving on.




LessoN 74

We now move onto subtraction with regrouping
(ot borrowing). Subtraction is more difficult than
addition so feel free (and be prepared) to take the
next few lessons slowly. Adapt the practical
activity given on page 8 for subtraction and spend
as long as you need to on each lesson to allow the
child to understand the concepts taught.

This Sumstix illustration of the process will help
the child understand the two algorithms that are
presented in the lessons that follow.

LessoN 75

This lesson introduces two algorithms for
subtraction. Contrary to popular belief these are
not a "new" way and an "old" way: both appear
in textbooks from the nineteenth centuary,
sometimes side-by-side.

Neither one is particularly superior to the other
and neither is mandated by the Australian
Curriculum, although some teachers do mandate
one method over another in their classrooms. As
mentioned in the student book, T prefer the
"borrow and payback" method for its simplicity
and applicability to computing. 1 suggest that you
spend two days on this lesson and teach each
method on a separate day.

If your child finds one method very difficult to
understand and the other easy, allow them to use
the easy method excusively and disregard any
instructions to use a particular method in later
lessons. In any case, it is best for the child to
decide on a favourite method to use exclusively
by the time they have completed this milestone.

LEssoNs 76-80

The remainder of the lessons in this milestone
provide further practice with the algorithms
taught. As these concepts are foundational, I do
not recommend that you skip any of these
lessons.

Our number system is brilliantly designed to make counting super easy. Using our Sumstix we learned
that ten ones make one ten:

Now take a close look at your number chart. How many squares are there in each row? Yes, ten. Now
find the number 100. How many rows of ten squares are there from the top of the chart to the number
100? Yes, it's ten. Now, look back at what we just learned about counting the 'hundreds' at the bottom
of the previous page. How many hundreds make one thousand? Yes, it's ten again! Ten is a very important
number.

So, let's see how Cookie uses this idea to count sticks...

I've got this huge pile of sticks
to count. If | count them one-
by-one, Il be here all day!

I've stacked them together to make it easier. Each bundle has ten
sticks and each stack has 10 bundles of sticks which makes 100
sticks.

00 200 300 40O HIO 420 430 440 450 451 452

LESSON PRACTICE

This grid contains 100 dots, Count the dots in the pictures below and
write the number in the box.

35/

) 42|

4> Lesson 41

COUNTING T0 1000 AND MORE PLACE VALUE

=
By now counting to 100 should be easy and you should have a feel for the pattern of numbers. When
you can count to 100, counting past 100 is super casy. Let's start with skip counting by 100's, but before
we do, T want you to count every row of objects below just like the first one is labelled.

DEONORONONORORDED]

apple apples apples apples apples apples apples apples apples

B R B b BN R B R B

e W & d W d W

When you finish this lesson... Colour
each row of pictures to make a
different pattern.

000000

Call this object a "hundred" and count the row of "hundreds" below exactly like you counted
each line of objects above. Pretend that a "hundred" is counted the same as sheep, that is "one-hundred,
two-hundred..."

You just counted by hundreds all the way to
900!

Ten hundred is usually called 1000 so now
you are ready to count to 1000.

o

10

REVIEW AND PRACTICE
A group of kids were playing tfug-of-war. There were six kids at each end of the
rope. How many kids were there all together?

There were kids.

Fill in the missing numbers on the number chart.

{23456 7|8]49]I0
{12 {13 H]B]l6]!l7 181920

The same shape is the same number. Work out what number each shape
represents,

O+/\= O
]+ O L]
I+ [T= 1 ZaN

NEw DRiLL DETAILS

1
w

i . X . This new section will help you to

The drills which follow practice the following get ready for the drills. If you
concepts and facts: would rather use flashcards or
games, you'll know which facts and
concepts to practice! This section
will come up
e Reviewing facts that add to values up to 10.  whenever the

drills change

focus!

e 10 plus a number
e A number plus 10




Drill 41

Z o+1=_Il  7+i0=_1/  3+4= /
o+10=_20 1+wo=_1_  2+7= 9
2+10=_12_ 8+10=_18  1+a= |0
6+10=_16  a+10=_19 3+2= 5

lj o+7=_1/ 10+6=_16  5+3=_ &
5+10=_15  1+2=_ 3  6+2=_ &
o0+8=_ |8 1+3=_ 4 2+1=_ 3
0+3=_13  2+6=_8  1+8=_9
o+a=_19  2+10-_12  7+10=_[/_
o0+2=_12  7+1=_8& 3+7=_10_
y+i0=_I14 10+10=_20  1+1=_ 72
o+4=_I14  s+i0=_18  1+e6=_/
o+6=_16_ 10+1=_ 1l 4+6=_10
3+10=_13  3+10=_13  a+2=_ |l
o+5=15  s+2= 10  a+1= [0

Stop when you "get it!" You can
always practice more tomorrow.

LessoN PRACTICE
Read the following numbers aloud to your parent.

H45 501 700 848 05
652 198 897 33l 309
260 59 56l 656 Q82

Each row below shows a piece from a number chart. Fill in the missing numbers. The first one is done
for you.

331|332|333|334|335[336|33/|338|334340
621|6221623/624625626/627|628|629630
UL 442 [HH3|HHH| HH5| 146|447 | 448 |H4AH50

19] {192 {193 {194 195 196/{197]198 [ 199|200

661|662|663|664665666|667|668|669(6/0

Write the missing numbers in the bubbles to count from 991 to 1000.

) @
T

Lesson 42
READING AND MAKING 3-DIGIT NUMBERS

Today we're going to practice counting past 100 using a sort of number flipper. Cut out three sets of
digit cards from the back of this book and arrange them into three piles on the table as shown below.
The digits in each pile should be in order from 0-9.

If you have the Milestone Zero

Maths Number Game
cards, you can use them

for this activity!

=

Now "flip up" the top card on the left hand pile to reveal the number 100.

One hundred

| 0 O

Then flip through the cards in the right hand pile and read the numbers out
loud to your parent. When you get to 109, flip the whole pile of cards above
the nine in the right most pile back over so that the zero is at the top again.
Also, flip the middle zero over to reveal the one.

8

(=]
(o |

°

One hundred and ten!

10 @

Flip through the right hand pile and read the numbers formed. Keep doing this for a while and then
see if you can make any random number that your parent tells you to.

Put your digit cards somewhere safe when you're done. You'll
need them again later in this book! &
14

REVIEW AND PRACTICE

Helen and Mary were playing with their dolls. They had 12 dolls all together.
When they were finished playing, Helen put away 5 dolls and Mary put away
the rest. How many dolls did Mary put away?

Mary put away 7 dolls.

Write down the number of dots shown in each line:

(s88s3) (ssss2] [ss388) (33383 ) (ss338] [**=* ]| 35

517

Fill in the missing numbers on the number chart.

20122123 (24|25|26|27|28{29(30
31'132(33|34|35[36]37|38 39|40

Circle the symmetrical shapes:

D200 -@




Drill 42

L 1vi0=_Il 0+6=_16 us2= 6
g+10=_18  7+i0=_I/  1+3=_H
o+6=_16_ 10+7=_1/_ 10+0=20
0+10=_20 o+1=_Il  2+2= 4

lj 0+2=_12  10+5=_15  2+8=_10_
o+4y=_I14  7+1=_8  4+6=_ 10
6+10=_16  4+5-_9  3+3=_ 6
q+10=_19  2+7-_ 9 as2=_ |l
0+3=_13  q+6=_/  3+e=_9
5+10=_[5  3+5=_ &  1+3=_9
o+8= 18  s5+3=_ 8  se1= H
3+10=_13  2+4=_6  3+i0=_|3
2+10=_12  1+2=_ 3 o+1=_ I
o+a=_19  2+3=_ 5  0+2=_12
y+i0=_|4  g+2-=_ 8  we1=_ b

REVIEW AND PRACTICE

There were 12 birds in a tree. 4 birds flew away. How many birds were left?

There were ﬁ(s birds left.

Fill in the missing numbers:

25112521253(254255256(257|258259260
781(782|783|784(785|786|787|788|789/790

Fill in the missing number on the number bond then write the four equations
represented by it.

(3)(3) _q+8=12 _12-9=3

PuzzLes
Fill in the missing numbers so that each row and column add to give the

number in the circle. @
5 -

6 Ji
@5'%3 @Iés
218 /

2

Drill 43
| 4+0=_|4  10+10=_20 2+3= 5
7+10=_1/  10+6=_16  4+y= 8§
+i0=_Il axi0=_19  1+e= /
o+9=_1[9 s+i0=_15 7+2= 9
JJ 2+10=_17  3+10=_[3  4+1= B
o+6=_16  10+1=__[  4+0=_[H
0+7=_1/  2+8=_10  4+2=_ 6
6+10=_ 16 2+2=_ 4 = av2= |
g+10=_ |8  s+4=_ 9  2+5= /
o+3=_ 13  6+1=_/ 1+i0=_ |l
o+2=_ 12 1+1=_ 2 3+5=_8
o+5=_[5  s5+5= |0  6+2= 8§
o+s=_[8  s+6=_ 9 2+10=_[72
o+4=_[4  u+e=_[0 w0+2=_12
o+1= Il s+1=_ 4  1+5=_ 6

Lesson 43

PLACE VALUE AND EXPANDED FORM

We can represent three digit numbers on a place value chart and in expanded form just like we did for
two digit numbers.

EXAMPLES

h t o
472 W w2- 400 + 70 + 2

LESSON PRACTICE

Build the following numbers on your place value mat using digit cards and then
complete the place value chart.

h t 0 h t o

o 6|7 |2 % 2| 6] A

s 5 8|4 g |43

Write each number below in expanded form:

123,700 +20 + 3 ,;4.600 + 30 + 9
|q2=|OO+qO+2 58q=500+8o+q
4e7-400 + 60 + 7 4900 + 40 + 5
¢74.800 + 70 + 4 ,,,.200 +40 + 8

18

20



Lesson 44

CHECKPOINT Six
Count the dots and write the number in the box.

o /| 2 H 871

58 51 | |8 452

234

430

bl/

& |/ ||
h t 0
H1 5] 2

21

Drill 44
] 0+8=_ 18 yri0= [H
7+10=_ |/ 10+6=_16
o+6=_16  10+4=_ |4
2+10=_12  1v0=__1
\[J 3+10=_13  g+i0=_ 18
5+10= 1D 3+2=_ 5
o+1=_ Il 245/
6+10=_16  1+6=_/
o+7=_ 1/  7+2- 9
o+9=_19  2+2= 4
o+0=_20  y4e3- /
o0+3=_13  2+6=_ 8
q+10=_ 19 1+7-_ 8
o+5=_15  y4e2- 6
o+2= 12 3+3- 6

[+10 =

Yot =

0+2=

3+6=

4+5=

g+2=

2+7=

2+10=

|+2=

7+1=

|+5=

H+6=

5+b=

6+2=

3+4=

23

Write each number below in expanded form:

856=800 +H0 + 6 994400 + 90 + 4
713=_/00 + 10 +3 74300 + /O + 4
368=300 + A0 + & 54,500 +4OQ + 7
00 + 40 386300 + 80 + 4
200 + 3 247200+ 40 + /

| 40=

203=

Each row below shows a piece from a number chart. Fill in the missing
numbers, Count by ones.

42| |H22{H23{424|425|426|{427 428429430

Q51]952|953|954]955]956|957|958|959]960
68|(682|683|684/685686|68/1688|689/690
741|742{743

88|

N

44| /745|/46(/47|/748|/49|/50

882|883

o

84|885(886|88/(888|889|890

RIDDLE

My hundreds digit is half my tens digit and two more than my ones digit. My
ones digit is more than nothing but less than two. What number am 1?

2

22

==

Lesson 45
ADDING AND SUBTRACTING BiG NUMBERS PART 1

We can add two-digit numbers using Sumstix in much the same way we used them to add single digit
numbers. Of course, you will not always have Sumstix in your pockets to help you add numbers when

you need to, but I am showing you this now so you can use it to prove to yourself that the other methods
we will look at actually work.

ADDING BiG NUMBERS WITH SUMSTIX

EXAMPLE

23 + 34=

Step 1: Make each number with Sumstix.

Step 2: Rearrange the Sumstix.

Using Sumstix to add bigger
numbers can get tedious, not
to mention that you'll
probably run out of sticks! In
the rest of this milestone,
we'll learn some better ways
to solve these sums.

=

6+17=/8_
nves=//_
+65-09

Step 3: Find the result.

23+34=_D/

LESSON PRACTICE
Use Sumstix to find the answers to the following:

34+2=00 si+16=_0/
2+51=006 3+54=//_
3+3=00 ws+3=//

24



REVIEW AND PRACTICE

Edith is 7 years old. How many years will it be before she is 11 years old?

Edith willbe 11 in years.

Write the numbers on the place value charts then write them in expanded

form.
| t | o h | t |

7¢ 9| /| Y 28 71 8
ay=__900+/0+4 - 20+8&

Colour the fraction of the shape shown:

oo
B

N|—

ik
Ll

Taking 10 away from a 'teen' or 'tween' is
super easy. Eg: 1S - 10. Since 1S =10 +
The drills which follow practice the S, taking ten away we just end up with
following concepts and facts: S. So, 15-10=5.

NEw DRriLL DETAILS

Taking the units from a 'teen’ or ‘tween’'
is even easier because the answer is
always 10! Eg 12 - 2. Since 12 =

10 + 2, when we take 2 away, =ir)
(eg12-2) we end up with ten. So, 12-2=10.

e Reviewing subtraction facts for ‘
values up to 10. !

25

e A number between 11-20 take
away 10 (eg 15- 10)

e A tfeen number take away the units

Lesson 46

ADDING BiG NUMBERS WITH A PLACE VALUE MAT

So far we have only seen sums written horizontally (across the page). Sums can also be written vertically:

3 25
+4 +6 |

)

. . )
EXAMPLE There's a place value mat at the end of this book!

When we write sums vertically, we can use a place value mat to add them.
31 + 64

weird, but we

1.
| 3
:Th‘ ight feel ]
i is might feel 5

3
5

+ need to start at
this end. You'll +
see why in
5 Milestone 9.
| — A\
4+1=S\ 3+5=3 \Y

3+54= 8D
LESSON PRACTICE

Build the following sums on your place value mat, solve them and then write

the answers here.
w+54=96 72+15=08/

R+i=24
B+p=60 ys+3=/6 e+n2=/9

Drill 45

~| n2-2=_|0  1B-3=_|0 10-7=_ 3
7-0=__/ B5-10=_ 5
g-l0=_ & m-io=__|  s5-4= |
i-1=_10  20-10=_10  4-1=_ 3
4-4= (O 1@-a=_|Q  a-y=

6-10=__ 6

O
o
1
o

5-3= 7 5-2=

4-10=_ Y4  7-5= 7
5-5= |O  6-2=

6-6= |10 a-6=_ 3
7-7=_10

[-10= 9 6-1=

o
o8
1l
= Lo for o fo o

oo
o
1}
_EOW‘O‘IOO_EN
S
o
1}

n-10= 7 5-=
3-10= 3 §-7= | 9-8= |
0-10= |0 10-5= §H

g-3= |0 6-3= 3 e-4= 2

REVIEW AND PRACTICE

There are12 boys in Jack's class. 5 of them are 7 years old and the rest are still 6.
How many boys are 6 years old in Jack's class?

There are 7 6 year old boys.

Write the numbers in expanded form:

473 = 400 + /0 + 3 816 = 300 +10 + 6
w- 100+H0  ,5. 200+ 30 +|
. 800+ 50 +7 ,.900+20 + 9

Write the four equations represented by number bonds.

() 4+7
(@) (7) 7+H

RIDDLE

You can find my hundreds digit by adding 3 to 1, my tens digit is 1 less than my
hundreds digit and my units (ones) digit is the sum of my other two digits. What

number am I? ﬁ
43/

28

I -4
[ N-7="4

I
~N




r‘ Drill 46

§;||-|o=_| s-s=_10 4= 3
9-0=_9  20-10-_10 10-4= 6
9-9=_10  w-4=_10  s5-3- 2
5-10=_ 95  -6=_10 a-y= b
6-0=_6  n-10=_2  ¢-2= 4

lJ 2-2= 10 s-=_/  sy= 4
7-0=_/  7-5=_2 10-2=_8
3-3=_10  7-2=_ 5  g2= |
i-1=_ 10 s5-_3 5= 4
20-0=_10  7-4=_3 0-5=_5_
5-0=_ 3  10-7=_ 3  a9-6=_3
M-0=_ 4 10-8=_ 2 8-2-=_6
7-7= 10 w0-3-_ 7/  w-2-_ 2
5-5= 10 10-9=_ | 3= 3
g-10=_ 8  a-5= 4 sy- 2

29

REVIEW AND PRACTICE
Kate's grandmother gave her 15 dollars. She spent 5 dollars on a gift for her

grandmother and 3 dollars on something nice for her mother. How much
money did she have left to spend on herself?

Kate had z dollars left.

Count the dofs:

coEReBEREDGEERY

R ERREREEREERERET 270

Use the number bond o fill in the blanks:

@ 62+17=/9 79-62=1/

@@ 7+67 =7 79-17=62

A toy shop owner asked a group of kids what their favourite toy was. The
pictogram below shows the resulfs:

car PE3% 3= 10 kids
doll 333t Which foy was most popular? AT SU

blocks 30% Which toy was least popular? b|OCI<S
artsupplies 3E 3¢ 343 How many kids did he ask? J_O_Q

31

Lesson 47

ADDING BiG NUMBERS WITH A PLACE VALUE CHART

Last lesson we saw how to use a place value mat to add big numbers. This is more convenient than using

Sumstix but only a little bit.

Today we will get one step closer to being able to do these sums on a scrap of paper or, even better, in

our heads.

EXAMPLE
1 o

Y
|

2
5

+

LESSON PRACTICE

t

L}

Remember to

5 start at this + |

———— end!

A

ws=9/

5

L 4+1=§

Write the sums on the place value charts and then add each column to find the sum.

4+ 43

t o

+
)

\I‘QO -

5l +27

t

N Ol

(o]

|
s
3

+

S

62+17

(o]

_O‘\l No

+ +
6 /

r‘ Drill 47

ﬁlz—lmi 5-5=_10 7= 6
@-0=_9  B-0=_3 a-7= 2
a-a=_10  s-0=_5  g-4= 4
8-8=_10  4-1=_10 a-y= 5
6-6=_10 7-0-_/  7-5= 2
20-10=_10  q-8=__| 9-3= b

. 2-2=_10 7-4=_3  a.=_8
i-o=_ 1 g2=_6 522 3
3-3= 10 0= 9 73 H
20-0=_10 2= | w2= 2
s-0=_8  s-3=_ 5  q-5- 4
7-7= 10 s5-3-= 72 -5 |
-u= 1O o-y= 6 a-g= 3
M-l0=_ 4 0-6=_ 4 5= M
6-0=_ 6 7-2-_ 5 10-7-_ 3




Lesson 48

ADDING BiG NUMBERS ON PAPER

Today we're going to get rid of the place value chart and just write out the sums vertically to solve them.
To keep things neat, we will write them on a grid. It's important to keep your numbers lined up!

EXAMPLE

LESSON PRACTICE

64+ 2l

64
+ 21
&5

22+ 75

22
+ /5
97

53 +43

53
+ 43
96

6l +18

| Starting here we

?\QQ say, "1 plus 8 is

q

22+ 26

272
+ 26
48

4+ 33

| 4
+ 33
4/

58 + I

58
+ L
9

(@)

6 |

+ |

/9

. ' and 6 plus |

ﬁis 7"

37 + 42

37
+ 47?2
/9

H6 + 23

146
+ 23
69

32+12

3 2
+ 2|

53

33

Drill 48

=
—| 138-8-
1810 =
13-10 =
9-10 =
2-10 =
J“J 5-5=
5-10 =
7-10 =
-1 =
7-7=
3-3=
20-10 =
16-6 =
2-2-=
16-10 =

@)

el kB Lok b

I4-4 =

II-10 =

I4-10 =

Q-9=

20-10 =

0-7=

0-1=

0-2=

(o)
n

35

REVIEW AND PRACTICE

Tom had 5 one dollar coins saved in his piggy bank. He was given é one dollar
coins by the neighbour for washing his car. How many one dollar coins did he
have then?

Tom had dollar coins.

Fill in the missing numbers:

H21|422|{423|424|425|426|427428| 429|430

8311832(833]834|835|836|837|838|839|840

RIDDLE )
Why was six afraid of seven?

Solve the sum below to find the answer to the riddle:

613 + 176
h t )

6| 1] 3
L 7] 6
71 81 9

Write the digits from the answer above in the boxes below and read each digit as a separate number.

Six was afraid of seven because @ !
34

Lesson 49

PRrRAcTICE ADDING BiG NUMBERS

RIDDLE
What kind of car can drive over water?

[+ 14 Il +45 16 + 5l 63 + 16
+ + + +
25 Hé 6/ /9
A B C D
32 + 63 23 + 34 3+ 43 II+32
+ + + +
95 5/ /H 43
E G I N
17+ 2 74+12 42 + 24 24+ 44
+ + + +
38 86 66 68
o R Y, I

A CAR D ES I VI NG

25 67 25 86 79 74 66 74 43 57

ON A BRI DGE|I

38 43 25 56 8 74 79 57 95 68

36



REVIEW AND PRACTICE

Lilly is 7 years old. Her sister, Mia, is 5 years older. How old is Mia?

6+3=_

Mia is |2 years old.

Fill in the missing numbers on the number chart.

1123|465

10

121181515

20

Use Sumistix (if you need them) to find:

g oft=_2 5 of 8=

| - 1
5 of 2= 6 3

NEew DRriLL DETAILS

The drills which follow practice the
following concepts and facts:

e A number plus 9

Adding 9 to a number is the same as
adding 10 then taking one away. You can
do these easily on a hundreds chart by
finding the number, dropping down to the
next row and then moving back one

square.
¢ 9plusanumber OR for another way to think
e Reviewing addition facts for totals about these, you can review e ]

up fo 10.

lesson 32 in book Cl.

(] Drill 49
{%% 2+a=_Il qvq-_18
7| 6ea- 05 g 16
aey=13  guq=1/_
s5+9= |1 quq=_18
qs10= 19 149-10_
7+9=16 w2
qe=1/  3+5-_8
~LJ 9+3=12  yrp-_11
‘%+I=Q L&+|=i
o+a=19 " 2v10-12
Q+5=i 5+IO=£
yeq= 13 sey= 9
3+9= 12 gu= 1
q9+6=19  1e5= 6
qe2= Il yap= I

5+7=

3+2=

+2=

0O +1=

6+2=

2+2=

0+2=

g+1=

2+5=

3+3=

g+2=

3+t =

7+10=

2+4=

REVIEW AND PRACTICE

Quinn had 13 dollars. His grandmother gave him 25 dollars for his birthday. How
much money did he have then?

+

Quinn hod@dollors.

Fill in the missing numbers:

=
Lesson 50
MoRE PRAcTICE ADDING Bic NUMBERS
RIDDLE
Why is an optometrist like a teacher?
85 +12 52 + 26 23 +45 21 + 5l
+ + + +
9/ /8 68 /2
B L 0 T
23 + 42 65 + 33 62 + 23 43 + 36
+ + + +
65 98 s} /9
u Y H E
20+ 14 4l + 22 13+ 8l
+ + +
35 63 94
P I N
T HEY BOTH
72 8 79 98 97 68 72 &5

P UP T L S

Hal

492

493

4y

495

436

497

HA8

499

500

112

113

14

15

116

7

118

119

120

Write the four equations represented by the number bond.

6+ /=13

3-6=7/

/+6=13

3-7=6

72 79 ™ 72 35 65 3 63 78

39

PuzzLEs

Fill in the missing numbers so that each row and column add to give the
number in the circle.

8|1 | 11313

Ol Ql¥

VAV U121

No
~N

N
w

40



(—’ Drill 50

Lesson 51

EXPANDED NOTATION AND ADDING Bic NUMBERS
The numbers we have been dealing with in this milestone are actually pretty easy to add up in your head

NN a+i= 4+9=_ |3  3+5= §
| aeu- 1+9=_10  1+3=_ Y
q+9= 2+a=__||  s+1=_ 9
a+5=_1[4  a+g=_|/  2+2= 4
9+7= 5+9=_ |4  s5+4y= 9
3+a=_[7  s+w0=_1[8  a+1=_ [0
g+a=_1/  s+2=_|0  4+2= 6
JJ 6+a=_|[H  3+2=_H  4+3= /
o+a=_19  2+1=_ 3  6+3=_ 9
q+9=_[8  3+4=_/  a+2=_ |
a+i0=_[9  3+1=_ 4  4+i0= [H
9+3=_[2  i+i0=_ | e+4=_|O_
7+9=_|6  e+i=_/  1+4=_H
9+2=_ || s+i0=_|H  s5+1= 6
q+6=_ |5 o+1= || 1v2= 3

Emily got a new set of colouring pencils for her birthday. There were 12 pencils

REVIEW AND PRACTICE

in set but she lost 3 of them. How many pencils did she have then?

Emily had pencils left.

Write the numbers on the place value charts and in expanded form.

y=_H400+90+/

h_|

t

o

w q‘q‘q

Fill in the missing numbers:
Y+7= ||

7+ 4 <

8+'—}: |

5-7= 8
i-a=_2

8+7= |

5+ 8
9+3

4-5=

=12

9

Wirite the fraction of the shape that is shaded:

/y

43

but ONLY if you know your sums to ten really well. Remember to practice those number facts!

The easiest way to add numbers in your

EXAMPLE

head is to think of them as being written in expanded notation.

23+74

/4 A\/OA4
AR

0+ /=97

LESSON PRACTICE
25 + 63

20+5

43 + 52

4O + 3

60 + 3

00 + 2

80 + & = &8

0 +5 =95

64+ 723

60 +4

84 + 14

80 +4

20 + 3

O +Y4

30+ /7 =87

90 + Y4 = 9y

(] Drill 51
%%Lﬂmq:l 9+7=_16_ uw+0= [H
N 3+9=_|/  a+3=_12  7+10=1/
6+9=_15  2+9=_I  s+1=_ 6
a+y=_|3  a+s=_[4  6+u= [0
9+6=_15  a+q=_1&  4+i1= b
a+1=_|0  s+10=_15  s5+4=_ 9
5+9=_|4  0+10=_20  3+5= &
U 4+9=_[3  4+3=_/  2+1=_3
1+9= |0 e+2= &  2+3= 5
aeq= |8 s5+2=_/  8+2= 10
7+a=_ 16 2+5=_/  e+10=_16_
arz=_|l w0+2=_12  s+10=_[3
3+a= |2 7+2= 9 1+2= 3
ari0=_[9  s+1= 4 343- 6
a+s= |/ wo+1=_ Il 1e4= 5




Lesson 52

ADDING Bic NUMBERS: A SHORTCUT

Last lesson I told you that it is easiest to add numbers in your head by thinking of them as being written
in expanded form. This is true but it doesn't work really well if you try to visualise all the working we
did last lesson. What you actually do in practice is work the sum out from left to right (instead of working
right to left which is still important to remember to do when working on paper).

EXAMPLE
step 1

25+ 64 =

27

L. eighty’
If you have a big working memory, you'll find this casy to do even if you don't sce the numbers but are
only told the sum. If your working memory is like mine, you'll have to see them written down but, as

long as you know your sums to ten really well, sums written like this will be easy peasy! If sums to ten
are still hard for you... get practicing those drills and flashcards!

LEssoN PRrAcCTICE: RIDDLE
What gets wetter the more it dries?

63+33=_96_(0) 2+37= 59 w)

43+ 15 = 58 (L) 26 +42 = 68 M

73+ 4= &/ (A) 46 + 23 = 69 (E)

A T OWE L

87 68 96 59 69 58

45

@ Drill 52
;%3q+|o= 19 9+6=_ |5 2+4= 6
N—

9+3= |7 2¢9= || y+2= 6

9+8=_|/ q+9= |8 6+u= |0

g+a= |/ 10+a=_|9 2+10= |7

q+9=_[8§  3+9=_[|72 5412 6

9+5=_ 4 evi=_/

3+10= |3

ar1=_ 10 s+4=_/  2+1=_ 3
JJ 7+9=_16  u+1=_bH  s542= /
a+rd= |3 u+3z=_/  0+2=_ 12
5+9= |4 2+5=_/  1+2=_ 3
y+a= |3 d4+0=_[4  se1= Y
1+9=_ 1O 2+2=_ 4  y+5= 6
a+7= 6 s+3=_ 6  6+3=_9
ar2=_ |l 7+3=_10  1+3= 4
6+9=_ |5 s5+10=_ 15 e+0=_16

47

REVIEW AND PRACTICE

Flecher had six pebbles in his pocket and found 7 more. How many did he
have then?

Flecher had ﬁ pebbles.

Write the numbers in expanded form:

5=100+20+5  1o7=_ 100 +/
w400 + 80 +/ 555500 +50+5
o= 300 + 60 65 = 60 +5

Fill in the missing number on the number bond then write the four equations
represented by it.

(1) 2 +9
00 9+2

RIDDLE

| end with two and start with five hundred. My middle digit is between seven
and nine. What number am [?

| | -2
| 1-9=72

I
O

082

Lesson 53

SUBTRACTING BiG NUMBERS

By now you should realise from our work with number bonds that if you can add two numbers you can
also subtract one number from another. So, it should be no surprise that subtracting big numbers is
almost the same as adding them. We'll go straight to the simple paper vession. All you do is subtract the
bottom number from the top number in each column. Remember to start on the right hand side!

EXAMPLE 57 - 24

57
-24

| Starting here we say, "7 take
\Q away 4 is 3 and S take away

‘QZ is 3.

LESSON PRACTICE

57 -24 67 -52 89-63 57-23

33 15 26 34

98 - 52 86 -42 76 - 52 -3l

46 i 2 64

48



REVIEW AND PRACTICE
Count the dofs:

[.... } 70|_}

(ss222)(s222) (282 (s2zee) (22e)) |45 (0

Use the number bond 1o fill in the blanks:

@ 3+28=09
@ @ 3+ 28 =59

The foy shop owner counted the number of each colour toy car in his shop
and presented the results in a graph:

%4>=10 cars

59-31= 28

59-28 = 3|

Which colour is there most of?m

blue 4 s oo
red % What colour should the owner
yellow 4 334 > order more of ? _re_d_
black %ot o loorte o
o How many cars are in the shop? ||O

Fill in the missing numbers on the number chart.

1123|4561 7]18]9]I0
W {I2(13[M]I5]l6]17[18]19]20

49

Lesson 54

MOoRE PRACTICE SUBTRACTING Bic NUMBERS
RIDDLE
What's the difference between a piano and a fish?

76-123 a8 - 66 96-73 69-23

53 32 23 H6

C N 0] T

Q4 - 42 98 - 24 59-1 75-33

5?2 /M 48 1?2

85 -4 88-23 98- 55

s I F
Y O U CANNOT
74 B3 ® 53 42 3 32 23 46
N A I
W6 52 %2 W W3 65 71 W8

51

¥ 2+9=_1  a+10=19  7+2=9
N 1+9=10  9+3=_12  s+1= 9
ar2=_||  q+5=14  10+10=20
g+a=1/  6+a=_15 = u4+3=/
a+r6=15  4+9=_[3  2+10=17
qra=[8  7+1=_8 = 1+3= Y4
a+7=16  1+5=_6  6+3=9
_U 7+a=16  s+10=_18  i+0= |l
a+8=1/  a+1=10  e+1=/
9+9= 8  6+10=16  s5+1=6
a+ry= |3 d4+i0=|4  4+2=6
3+9=12  6+4=10  3+2=5H
a+1=10  aw2=_ |l 2+4=6
o+a=19  e+2= 8  2+3=5H
5+9= | 1+2= 3 4+1=H

50

REVIEW AND PRACTICE

Harry's mother gave him 14 dollars fo pay for an excursion with his home school
friends to a wildlife park and his lunch. He gave 8 had to pay for the entrance
fee to the park. How much did he have left to buy his lunch with?

Harry had 6 dollars to spend on lunch.

Write the numbers on the place value charts and in expanded form.

h|f|o h

754 7‘5 9 4o Y

|t |
759=_ /00+50+9  uyos-__ HOO+8

Fill in the missing numbers on the number chart.

1213|4567 ]8]9]I0

12118151617 ]18]19(20

Use Sumstix (if you need them) to find:

%of6= 3 %OF% 2 %of2= |

Loy = %oﬂé: 8 Lopog= 1




@ Drill 54

N a+a= |+9= a+2=_ ||

R
4+9= 9+y= g+1= 9
9+9= 3+10 = 2+1= 3
7+9= g+a=_|/  e+1=_/
q9+5= 9+2= 3+l=_ 4
2+9= 6+4= o+2=_12
5+9=_[4  g+2=_| 2+2= 4

J_J 0+9= 4+l0=_|4  2+3=5H
9+6=_| g+10=_| l+4= 5
+8=_|/ = 3+3= 7+1= &
9+7= 16  s5+4=_9  g+10=_|[
a+1= |0 1+2=_ 3 4+2= 6
9+3=_[72  1+3=_Y4 l+1=_7
3+9=_[7  s5+i0=_|5 = 4+3= /
6+9=15  6+10=_16  10+1=_||
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REVIEW AND PRACTICE

Isabella had 12 markers and 24 coloured pencils in her pencil case. If Isabella
had only markers and coloured pencils in her pencil case, how many things
were in her pencil case?

Isabella had 3 6 things in her pencil case.

@ Drill 55

Fill in the missing numbers:

269\270|2/1\272(273|27H42/5|276\27 7278

318|319(320) 321|322|323|324|325|326|327

Fill in the missing number on the number bond then write the four equations
represented by it.

(7) _8+9=17 _17-8=9

(3)(9) A+8=17

Fill in the missing numbers on the number chart.

1213|456 78[9]I0

{12113 141516 (17]18]19]20

¥ a9+1=_10  q+y=_I3  4+1= b
7| ava- 18 e 17 3+1= 94
3+9=_12  av7-=_16 4+i0= 4
asg=_|/  a+2=_Il  3+10=_[3
9+3=_2  a+q=_[8 = s+1= 4
2+9=_|I  10+10=_20  s+10=_18
6+9=_15  6+2=_8  s+10=_16
U +a=_10  s+4=_/  s+1=_ 6
ario=_9  2+2=_H  1sy=_ 5
7+9= 16 1vs=_ 6 2+0=_12
o+a= 19  yey=_ &  2+3= 5
5+9= |4 4+4=_10 743 10
a+5= |4 2412 3 6+3=_ 9
ar6= |5 7+2-=_ 9 7+0- 1/
4+9= |3 3+3=_ 6 e+1= /

Lesson 55

SUBTRACTING BiG NUMBERS MENTALLY

If you know your number bonds to ten really well, solving simple subtraction problems in your head
should be pretty straight forward.

EXAMPLE
step 1 step 2
97 - 24 97 - 24
] 1
L "seventy" L "three"

LEssoN PRACTICE: RIDDLE
What have eyes but can't see?

87-62=_75 (5 36-25=_1 (D)

89-74=_15 ) %6-14=_82 (0)
4a-23=_26 (W) 87-4=_16
68-31=_9/ () 89-56= 09 ()
95-33- 02 (1) 4-3=_13 )
6a-27- 12
N E E DL E S
3 37 37 1 W 37 B
S T R M S N D
% 6 82 33 26 15 W6 43
T A T OE S
5 82 62 46 62 8 3 15

55




Lesson 56 @
CHECKPONT SEVEN =
RIDDLE -
Why can't you keep secrets in a bank?
33+23 36 + 32 6l +25 13+ 5l
+ + + +
b6 68 86 64
A B C E
34 + 14 42 + 4l 20+11 [7 +1l
+ + + +
48 83 32 28
F H L 0
71 +16 15 + 6l 52 +15 26 + 53
+ + + +
8/ /6 6/ /9
R S T u
B E A U E O _F
68 64 8 56 79 76 64 28 48

67 83 6M 67 64 32 32 64 & 76
@ Drill 56
D a+2=_ [l 0+9=_[9  3+2= b5
- +a=_|0  s+3=_|4  2+3= b
ar1=_|0  7+9=_16  1+5= 6
ari0=_[9  3+9=_12 e+0=_16_
q+7=_|6  9+s=_[/ 3+0=_[3
9+3=_1[72  2+10=_12  a+i0=_[9
2+a=_ |l 4+y4=_8  i+u=_H
J_J 6+a=_1|5  3+3=_ 6  7+10=_|/
q+5=_ |4 2+5= /  542= /
q+a=_|&  2+1=_ 3  2+2= 4
g+a=_|/ 7+1=_ 8  s5+y=_ 9
a+u=_ |3 6+4=_|0  3+5= &
ar6=_ |5 7+2=_ 9 1+3= 4
q+9=_ |8  4v3=_/  ev1=_/
4ra= |3 5+3=_ &  4+2= b
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RIDDLE
Why are dogs like trees?

85-14 52-4 27 - 12 75-22

3| I L/ /0
K 0 R s

You may solve these
subtractions (and
the sums on the
previous page)
however you like. If
you can do them in
your head, you don't
need to use the

3 5 grids!

25-12 BH-1I H6 -l

58

Lesson 57
ADDING AND SUBTRACTING ON A NUMBER CHART
ADDING AND SUBTRACTING TEN
Remember that I told you a while back that adding one and counting are really just the same thing? Well,
counting by tens is just adding ten. On a number chart we count by tens by reading the numbers in the

last column of the chart in order, so we can add ten to any number just by dropping down a row. To
subtract ten, we just go up a row.

1] 2 34 |5 |6 |7 |8]|9](10

|12 |13 |14 |15 |16 | 17 |18 | 19 | 20
320+I0=30

21 | 22|23 (24|25 |26 | 27 | 28 | 29 | 30 4

31|32 (33 (34|35 | 3637 | 38|39 |40
536 + 10 = 46

1

42 43 | 44 | 45 | 46<747 | 48 | 49 | 50
43 +10 = 53 P
52

1+53 | 54 | 55 | 56 | 57 | 5859 | 60
({68 - 10 = 58
61|62 | 63|64 165 | 66 | 67 | 68169 | 70

75 -10 = 6S
7|72 |73 | 7475 |76 | 77 | 78 | 79 | 80

81|82 |83 |84|85|86|87|88|89 |90

91|92 (93|94 |95 |96 | 97|98 | 99 |100

Watch the signs! i ﬂ
87-10=//
4-10=_1
68+10=/8
55+10=6D

s4-10=24

LEssoN PRACTICE
Use your number chart to add or subtract ten.

a3+10=103 54 +10 =04
57-0=1/  27+10=3/_
g1-10=04  43+10-03
w+10=104  q5-10-86_

72-10=62 2%-10=16

60




REVIEW AND PRACTICE

Jayden saved up 55 dollars then he bought a model car kit for 32 dollars. How
much money did he have left?

Jayden had 23 dollars left.

Count by fens.

w 52 62 72 8 92 102 112
v 3/ 47 57 6/ 77 8 9/

6 26 36 H6 56 66 /6 86

Calculate:

Subtracting nine from a number is the
same as subtracting ten and then adding
one back on. On a hundreds chart, you
Jjump up one line then move forward one
square.

NEw DRriLL DETAILS

The drills which follow practice the

following concepts and facts:

e Anumber minus 9

If you see a subtraction like this: 19-S,

where the units digit in the first (-

number is one less than the |

number being taken away, the \§
\

answer is always nine! K/&
6l

¢ Subtraction with the answer 9
e Ateen minus 10 or the unit.
e Subtraction facts within 10.

Lesson 58

ADDING AND SUBTRACTING NINE

Adding and subtracting nine is nearly as easy as adding and subtracting ten. The only thing you need to
remember is that nine is one less than ten.

To solve 30+9,

Z; 2;2/9[,‘::; 89”0 drop down one line
1 2 3(4 |5 )6 |7 ]| 8| 9 (10| then wego BACK

90 FORWARD one square because

one square | 49 | 12 | 13 (14 | 15 | 16 | 17 | 18 | 19 | 20 | pine is one less
because nine is

7 than 10.
739 less than L34 | 5 23 (24| 25|26 |27 |28 29|30
131 |32 (3334|3536 37|38 :5\9 40.D
J
41| 42| 43 |44 | 45 | 46 | 47 | 48 | 49 | 50 \‘s

T 2
51 152 | 53 [ 54 | 55 | 56 \57 | 58 | 59 | 60

62 -9 =283 —) >S56 + 9 =65
662 | 63 | 64 §\5 66~/ 67 | 68 | 69 | 70
s

7172|7374 |75 76 | 774 78 | 79 | 80
7 77 +9 =36
81| 82 | 83164 ds 8 87~ 88 | 89 | 90
9 -9 =38 P
91 ‘ 92 ‘ 93] 04| 95 | 06 | 97 | 98 | 99 |100

LEssoN PRACTICE
Use your number chart o add or subtract nine.

a+a=_30  u4gsq=57
5|-Q=i2 26-Q=i
g1-9= 0D g9+q= 18
4-9-_O 57-9=_18_

a6 +q- 105

57+9= 006
g9+9=_18
9%5-9=_86
.y
53+9= 02

70-9-=_0l

63

-2=_ 9  w-7=_9  s-2= 3
8-9=_ 4  m-a=_H  e-u= 2
2-3=_ 9 wm-s=_49  w-3= [0
@-i0=_49  9-9=_10  s-1= H
2-9=_3  -9=_6  8-1=_/
8-9=_ 9 20-10-_10 1-10=_3
7-9=_& a-7=_ 72  s-2=_ 6
\L} 5-6=_ 9  4-1=_3  wm-4=_ 10
3-4=_ 9  B-5s= [0 912 &
6-a=_/  a-8=_ | 6-3=_ 3
o-a=_ | 1-6=_10 7= 6
o-1=_ 9 8-6=_ 2 a-3=_ 6
g-a=_ 94 wm-0=_H = [0
i-a= 72 10-4=_ 6  7-5=_ 7
7-8= 9 s-2= | g-3=_ b

62

REVIEW AND PRACTICE
Kaitlyn and her sister wanted to make a flower stall at the market. They picked
24 white roses and 35 coloured roses. How many roses did they pick?

Kaitlyn picked 5q roses.

Write the numbers in expanded form:

390=300 + 90 29200 + 90 + 9

s5=_ 80 +hH
yoz= 400 + 3

13200 + HO + 3
5!-“:500 + 40 + |

Write the four equations represented by the number bond.

Q9 43+5=94 94-43 =5

@@ ol + 43 =94 94 -5 =43

RIDDLE

My tens digit is just one, add one more and you have my units digit then add
the tens and units digits to make my hundreds digit. What number am 1?

312

64



@ Drill 58

Tl ok7- 9 e Y 7-3=_ 4
2-9=_3  1©-9=_|0  np-0=_7
a-o=_9  B-4=_9  B-5=_ |0
5-9=_6  16-9=_/  2-1=_|
o-1=_9  r-3=_9  s-4= |
4-5=_9  7-2=_H 9= &
7-a=_ 8  a-7=_2  s-u=_ 4

\LJ g-9=_9  16-6=_10  a-6=_ 3
7-8=_ 9 20-10=_10 8=/
o-9=_|  w6-0=_6  7-6=_ |
M-9=_ 5 5= H 0 ey 2
5-6=_ 9 10-2=_&  0-1=_9
gB-9= 9  5-3= 72  6-5=_ |
i-2=_ 9  wo-3=_/  s-2= H
i-a=_ 72 10-4=_6  B-l0=_5H

REVIEW AND PRACTICE

Leo had 85 dollars in his bank account. He deposited another 12 dollars. How
much money did he have then?

Leo had 2 dollars in his bank account.

Count the dots:
(s3333) (33333 (33833 (s2333) (s2333) (] 57
[.... } L}O |_}
Calculate:
26 61 56 75
_+63 =31 =32 —21

8 9 92 24 54

Molly asked some friends what their favourite fruit is. She made the following
chart to show the results:

Each picture represents one person who likes that fruit.
5 & & Which fruit is most popular? bO nana

6 C Which fruit is liked by three people? cher‘ry

@%@6@ How many more people like bananas than pears?

DRRRN)
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Lesson 59

PATTERNS FROM A NUMBER CHART

If you can add and subtract nine or ten on a number chart, you can also find missing numbers in a piece
from a number chart. Look at the shaded squares below, can you figure out the missing numbers?

EXAMPLE

Fill in the missing numbers in the number chart patterns:

38-10

21 | 22| 23 (24|25 \i‘ 27 | 28 | 29 | 30
31|32|33 |34 39 | 40
41 | 42 | 43 | 44 49 | 50
51 | 52 | 53 | 54 59 | 60
61 | 62 | 63 | 64 | 65 | 66 | 67 69 | 70

28/

53

55

32?>
37 | 38 X

&4

46

/3

/5

33 +10
LESSON PRACTICE

Fill in the missing numbers in the number chart patterns:

13

ol

Y

I

22 19312
33

6

N

/

N

% Drill 59

N 5-6= 9  13-9=_ 4
H-9= 5  7-8= 9
H-5=_9  p-a=_ &
6-a=_/  18-9=_9
a-i0=_9 2= 9
i-a=_ 72 a-s= |
-3=_ 9 13-0=-_3

\b g-9=_ 9 s-1=_/
o-1=_ 9 s-7=_ |
o-9=_ | -6=_ 10
6-7=_ 9 10-6=_4H
g-a= |0 s5-3= 2
R-a= 3 n-2=_ 10
3-4=_ 9 n-4=_ 10
5-a= 6 10-5=_ 5

68



RIDDLE
Why is an island like the lefter T?

Lesson 60
CHECKPOINT EIGHT @ mﬂ

w+10=09 (A sa+10=49 m 2+9=-3[ ©
6+a=_25 ® 77+9=86 N 3s+0=48 ®
62+9=_/] © s+10=6l © 24+9=33 O
54+9=63 0) 75+9=84 ® s7+10=6/ ()
y+i0=bD4 ® r+a=_26 ) m+9=83 M
63+10=/3 () 78+10=88 M 7n+10=8] _®
58+10=68 () 72+10=82 ) e+a=_/Q O
50+10=67 () 37+0=4/w 2+10-39 M
a+a=/8 10 e+a=/6 »n Ho+10=00 6
B E C A U S E
71 26 48
I T I S [ N T H_E
70 88 33 67 67 86 83 68 8l
M T DD L E O _F
49 33 63 3l 78 50 6 73
W A T R
47 76 39 59 84
% Drill 60
N M-a=_ B k7= 9 82 6
a-0=_9 B-9=_9 1B-3=_|0
g-a=_ 9 18-a=_Y4 10-7=_ 3
-2=_ 9 w-3=_9 92/
7-8=_ 9  s-6=_9 w-0=_ |
7-a=_ 8 B-5=_10 s5-4=_ |
2-a=_ 3 n-2=_10 s-2=_ 3
\D 0-9=_ | 9a-3=_ 6 a-1=_ &
4-5=_ 9 m-io=_ 4 7= 6
o-1=—9  w-4=_10 7-4=_ 3
5-9= 6 6-5=_ |  2-1= |
3-4=_ 9 w0-2=_ 8 w0-3=_/
i-a=__ 72 w8-8=_|0 a-7=_ 7
-a= O 6-2=_ 4  s5-3= 2
6-9=_/  9a-8=_ |  7-3= 4

RIDDLE
What would happen if everyone in Australia had a pink car?

72-9= 63  57-9= 48m  w-10=4 (0
0-10=/0@w ¢a-a=_60pn  s3-10=43 )
78-10=68 ()  w-a=_12 @  7-9-64 R
5-9= 42 () ¢-9= 09k  m-9-15 ®
35-9= 26 w-a=_40y  sa-10=-490
sa-0= 44 7-a= 690  20-9-1_m
1-9= 00 @ 65-9=_00()  s6-10=26 ()
72-10=62©) 2-0=16 y 46-9=_37
37-9= 28 ®)  e-10=02ny  30-9=21
7-0-2/® ®-9=_94 (0 4-10=38 w

AUSTRALIA

@ e 7 %
\/\/ O U L D B _E A
TR TR 55 2/ 63

P I N K

43 60 16 59

Lesson 61

<

/ Write how many dots are shown in the pictures:

o0000 o0000 o000 00000 | | 00000
(ss888) (328 n.....][ 8) (sss38) (ss8) (sa233)

In the above you were skip counting first by hundreds and second by tens. We can skip count by any
number. In this milestone we will learn how to count by 2s and 5s.

LESSON PRACTICE
Colour every second square in the hundreds chart yellow (the first row is done
for you). Then read the yellow numbers out loud.

1 2 3|14 |5 6 7 8 | 9 |10

M ]12 (13 (14 |15 | 16 | 17 [ 18 | 19 | 20

21 | 22 |23 |24 | 25 (26 | 27 | 28 | 29 | 30

31|32 |33 (34|35 |36 (37)|38| 39|40

41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

51 | 52 |53 |54 |55 (56|57 |58 |59 |60

61 | 62 | 63 | 64 |65 |66 | 67 | 68 | 69 | 70

71|72 |73 |74 (75 (76 | 77 | 78 | 79 | 80

81|82 |83(84|85|86|87 (88|89 |90

91 (92 | 93 |94 (95| 96 | 97 | 98 | 99 (100




REVIEW AND PRACTICE

Matilda was selling cookies for her club. She started with 27 boxes. By lunch
time she had sold 11 boxes. How many more boxes did she have left to sell?

Matilda had f ) _boxes left to sell.

Calculate:

64

+ 1

/5 59 /3 20

+

— £
oo —
|
w
|
N
ol

Use Sumistix (if you need them) to find:

Adding eight is like adding ten then
taking away 2. On your number chart you
The drills which follow practice the can drop down a line then move back 2
following concepts and facts: squares.

¢ A number plus 8 OR Review Lesson 33 in book Cl for
another way to do it.

e 8 plus a number

e Reviewing 9+ and 10+

.

Reviewing facts with totals fo 10 @

73

NEw DRILL DETAILS

Lesson 62

LEssoN PRACTICE
Fill in the missing numbers on the hundred chart. Work ACROSS the rows.

1|23 |H{s|6|72|8]9]lO
1|12 (13|45 [16]17]I[8]19 (20
21 (27|23 | 24|25 |26 | 27 |28 | 20 |30
31 (3233|3435 |36 37|38] 39 [HO
a1 |47 | a3 | 44| 45 |H6| 47 [HE | 49 |50
51 |57 |53 | b4 55 |56 57 [58] 59 |60
61|67 |63 | 64|65 66|67 68|69 (/0
n\|/21713 /4715|7677 /8|79 |80
81|87 |83|84|85 86|87 88|89 |90
91 |92 ]93 | 94| 95 (94| 97 [9& [ 929 (OO

We can also skip count on a number line. Fill in the missing numbers:

¥

|
| 1
g 10 12 4 16 18 20

\
75

L
—
4 4

@ Drill 61

Tl wes= 12 ses= 16 o+1=_|l
o+8=_[8  s+s=_[6 = 3+6= 9
5+8=_[3  3+8=_| 1w0+10=20
a+8=_|/  s+5=_[3  8+3=_|
g+7=15  1+s=_9  3+2= H
7+8=_15  4+3=_/  3+s=_|l
g+6=_|4  a+0=_19 10+9= 19

\b g+a=_|/  4+4=_8 = s+9=|/
g+10= |8  s+5=_[3  3+1= 4
6+8=_|4  s+8=_16  2+2= H
s+1=_ 9  6+3=_9  2+3=H
s+3=_|  s5+4=_ 9  a+1= |0
s+2= |0 w+1=_ b5 ge1= 9
g+u=172  1+9= 10 7+0=1/_
2+8= 10 a+2=_ || 4+9=3

REVIEW AND PRACTICE

Nathan wants to buy a model car that costs 15 dollars and a construction kit
that costs 42 dollars. If his grandmother gives him 50 dollars for his birthday, will
he be able to afford to buy both toys?

The foys cost dollars all together.
Can Nathan buy them both? Yes
(Circle one)

Write the four equations represented by the number bond.

(77)  24+53=77 77-24=53

@@ b3+24=77 7/7-53=24

Calculate:
31 [ 62 25
+43 +36 -2 -2

/4 4/ 50 H

PuzzLE
Take Bunny to his carrots by solving the puzzle below. Follow the directions on
the arrows to fill each box.

+2 +2 +2

uReReRE
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Drill 62
g§+6= g+10=_ |8  s+a=_ |4
6+8= 8+5=_[3  1+5=_6
g§+8= o+8=_18  a+a=_|§
|+8= g+3=_|| 10+2=_[2
2+8= 7+8=_|5  8+2= [0
§+7= 3+6=_9  4+6=_[0
§+2= 5+2=_/  9+l0=_[9
\LJ §+8= 2+4=_6  a+2=_ ||
9+8= 4+10=_[4  y+a= [3
8+1= 5+5=_|0  7+10=_|/_
5+8= |3  4+2=_ 6  8+5= [3
4+g=_[2  g+7=_|5  1+4=_ 5
g+a=_1|/ 6+2=_ 8  4+1=_5H
3+8= 8+3=_ || 8+4=_[2
§+4= 6+1=_/  6+10=_16

Olivia was planting seeds in the garden for her mother. Her mother gave her 26

REVIEW AND PRACTICE

seeds to plant. After she had planted 16 seeds, her friend arrived for a play
date. How many seeds did Olivia need to finish planting before she could

play?

Olivia had | O seeds left to plant.

Lesson 63

Skip counting by two is useful when we want to count things that come in pairs or to quickly count a
large number of objects that we can easily bundle into two.

By oy sy oy oy o o s [0

4 16 18 20

g*- & o > e
& &P i§ § Y§
. . g 10 12 13

Notice we "count on" by
one to add the last one
that is not a pair.

LEssoN PRACTICE

HHOHB
9' s’ ,' ,?
L

Write the four equations represented by the number bond.

@ Bre=7 7-B-62
@@ 62+35=97 9/-62=35

Calculate:

2|
+52 + 14 -2 -4

/3 /8 3l o0

Colour the fraction of the shape shown:

AN

£|lE
£l

@ Drill 63

Coses= I wes=_ 12 H+g= |2
§+9= 2+8=_]0Q  3+2=_H
s+1=_9  1+8=_9  1+0=_|[
g+7= 6+8=_|4  1+5= 6
g+3=_ |  s+2=_|0  s5+1=_ 6
7+8= 2+9=__||  2+2= 4
g+8=_1|6  6+10=-_|6  2+5=_/

lJ 5+8=_| +6=__/  4+5=_9
g+5=_ |3  7+2=_ 9  a+a= [8
9+8=_|[/  5+g=_| +3=_ 4
o+8=_18  6+3=_9 10+10=_20
g+lo=_|8  2+10=_[2  4+2=_ 6
g+4=_[2  s+a=_[/  1+2=_3
g+6=_[4  s+7=_ |5 s+1=_ 9
s+8=_|6  7+3=_ |10  s5+2=_/

80




Lesson 64

T hope you're starting to get the hang of counting by 2s. Counting by 5s is the other skip counting pattern

that is pretty easy for most people to learn.

LESSON PRACTICE

Use a highlighter or yellow pencil fo colour every fifth number in the hundreds
chart (the first two rows are done for you). Then read the yellow numbers ouf

loud.

1 2 3 4 5 6 7 8 9 |10
1|12 |13 (14 (15 |16 | 17 | 18 | 19 | 20
21| 22|23 |24 | 25|26 | 27 |28 | 29 | 30
31 (32| 33|34 |35 (36| 37| 38|39 |40
41 | 42 | 43 |44 | 45 | 46 | 47 | 48 | 49 | 50
51 (52| 53|54 |55 |56 |57 |58)|59 |60
61 | 62|63 |64 | 65|66 | 67 | 68|69 |70
7|72 |73 |74 |75 |76 |77 |78 [ 79 | 80
81 82|83 84|85 86|87 88|89 |90
91 | 92|93 |94 | 95 | 96 | 97 | 98 | 99 | 100

Skip count on the number line. Fill in the missing numbers:

¥

5 10 15 20 25 30 35 40 45 50 55

@ Drill 64
9,

g+6=_|4
8+%=_J2_
g+8=_ |6
|+ 8= g+a=_1/
g+3=__ [  8+1=__9
6+3=

5+ =

lj 3+8= || 2+7=

3+8=

3+5=

4+5=

8+'—}:

3+10=

I+6=

|+7 =

8+|:

|+2=

2+9=

3+b=

q+2=

3+1=

[+10 =

2+2=

83

REVIEW AND PRACTICE

While on a long car trip, Paul decided to count passing vehicles. In one hour
he saw 22 cars and 23 trucks. How many cars and frucks did he see in the
hour?

Paul saw L* 5 cars and frucks.

Write the numbers in expanded form:

770-_ /00 + /0 77400 + /O + /
I = O +Y4 p- HO +2
ws-600+40 +5  ,;HOO0 +10 + 3

Calculate:
51 25 I8 78
+Y47 -1 +Y | -71

98 4 59 /

RIDDLE

You'll find my tens by starting at 10 and then jumping down seven rows on the
number chart. My hundreds digit is half my tens digit and my units digit is one
more than my hundreds digit. What number am 1?

485

82

Lesson 65

LESsON PRACTICE
Fill in the missing numbers on the hundred chart. Work ACROSS the rows.

112134 |5|e6|7]|8]9]llO

1n|12|131a||51w6]17 181920

21| 22|23 |24(75]| 26| 27|28/ 29 |30

31 32|33 |34|35|36|37]|38]39 |40

a1 | 42|43 |44 (U5 | a6 | a7 |48 | a9 (50

51 |52 |53 |54 |55|56|57|58|59 |60

61|62 |63 |64 |,5|66|67|68|69|/0

71|72 |73 |74 /5|76 |77 |78 | 79 |80

81|82 (83 84|85|86|87|88|89 90

91|92 |93 |94 (95|96 |97 |98]|99 |00

Count by fives. Fill in the missing numbers.

.
CERE N
5530




REVIEW AND PRACTICE

Continuing the question from last lesson. If Paul also saw 12 motorcycles and 22
busses in the same hour, how many vehicles did he see all fogether?

Paul saw 7_q vehicles.

Count the dots:
/06
(33282 (s2222) (s2222) (zs222) (z221) | L4 O
Calculate:
55 51 &9 a5

+ 14 +42 -39 -95

69 93 00 O

The chart below shows how many kilograms of each fruit were sold one day at
a fruit market.

Each picture represents 10 kilograms of that fruit.

5545

6 How many kilograms of pears |O

Which fruit is most popular? bO nana

were sold?
505505
( U < <jo How many kilograms of fruit |6O

w Em % w % =%were sold all Togefher”iﬂ

) ) , Lesson 66
Practice counting objects by fives.

mmmmmm-

5 20 256 30 35 40 45 50 55 60

LESSON PRACTICE
Count the objects by fives.

oottt m
000000
R 2 R )

EEEEEEEEm

Petals:

@ Drill 65

Tl sva= 17 sei0- 2+8=_ |0
g+1=_ 9  8+3=__|| s+a=_ |4
4+8= 6+8=_ |4  1+5= 6
g+8=_ 16  5+8=_[3 4+2=_ 6
9+8= §+2= 2+9=_ ||
o+8=_ |8  2+2= H+yg= 8
§+7= 6+3= 4+a=_ |3

\b 1+8=_ 9  3+2=_H 6=/
g+8= |6  5+8= |3 s+a=_|H
2+8=_| 3+6=_ 9  2+5=_/
3+8=_ || 5+2=_/ 7+10=_|/
7+8=_|5  1+3=_10  s+e=_ |4
§+6=_ |3  3+1=_ 4 4+e= |O
g+4=_ |7 8+a=_ |/  2+1=_ 3
g+6=_ |4 7+a=_ |6 9+2=_ ||
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REVIEW AND PRACTICE

Ruth counted 52 birds on the water. For some reason 41 of them suddenly flew
away. How many birds were left on the water?

| birds were left on the water.

Write the numbers on the place value charts and in expanded form.

h|t|o

w3 Y| & |3
ys3=_40OO0+80+3 76 =

Calculate:
27 6 78 65
+772 +83 =21 -3

%0F20= 10 %0F22= L

88



@ Drill 66

N g+6=_|4  5+8=_[3  3+u= /
s+2=_|0  s+a=_|/  2+4= 6
g+3=_||  3+s=__|  2+8= |0
s+8=_16  a+s=_|/ 4+6=_|0
2+8=_|0  s+5=_[3  6+3= 9
g+d4=_172  s+1=_ 6 s5+4= 9
g+7=_15 0+1=_ Il s5+5= [0

\D o+8=_[8  1+a=_10  2+10=_[2
7+8=_15  2+a9=_ | 10+9=_[9
g+10=_ |8  6+10=_16  s+u= 2
1+8=_ 9 gv0=_ Il ues=_[2
6+8=_ |4 4+3=_/  3+7=_ [0
4+s=_ 12 s+7=_|5  s5+3= 8
s+8=_|6  2+1=_ 3 5+8= |3
g+1=_ 9 4+a= [ 542= /

89

REVIEW AND PRACTICE
Stephen bought an 86 piece construction set from the op shop. When he got it
home, he found that 13 pieces were missing. How many pieces were left in the
box?

There were 73 pieces in the box.

Write the four equations represented by the numiber bond.

Q9  16+83=99 99-16=83

@@ 83+16=99 99-83=16

Calculate:

I3 3
+5 | +

o 16 | |

PuzzLe ﬂ
Each shape stands for a number (choose from 1-8). The same shape is the
same number in all the equations. Find the number that is missing at the end.

L+ ]= 6
O+O=10
O-0=_2
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Lesson 67

Daisy dolphin loves jumping through hoops. Help her find the way through the
hoops by filling in the missing numbers. Count by fives. Then use the letter clues
to solve the riddle.

10 15
5 N/ L 20
N \K
4o 1\ 35 (30 |\ %
ARG AN NG
N

o0 55 60 6NS /0
\S. 1 N— . D
U U Nl

RIDDLE
What would happen if a white stone was dropped into the black sea?

LT \/\/OLLJLJ;_OL

60 10 25 40 55 35

S I N K

50 60 65 20

90

@ Drill 67

Tl 5= 5 wes- 12 5+5= |0
2+8=_|0  5+8=_ 3  2+3= b
o+8=_18  g+e=_[4  2+5= /
a+g=_[/  1+8=_ 9  3+s=_ |l
g+d=_172  g+a=_[/ 4+5= 9
g+1=_9  8+5=_[3  a+a=_ [
g+i0=_|8  7+1=_8 w0+10=_20

lJ g+7=_ |5 v1=_ 2 sve=_ |4
6+8=_|4  1+7=_ 8  2+1=_ 3
s+2= |0 3+2=_ BH  6+3= 9
s+8=_ |l wo+i=_ Il 1+a=_[0
s+5=_[3  s+1=_ 9  s5+a= [4
s+8=_ |6 6+a=_15  e+u=_[0
s+8= |6 2+6=_ 8  g+7=_|5
s+3= |l s+3=_ [ g+a=_[/

92



Lesson 68
CHECKPOINT NINE @

Complete the number lines counting by twos.

20 22 24 26 28 30 32 34 36 38 40

50 52 54 56 58 60 62 64 66 63 70

Complete the number lines counting by fives.

5 10 15 20 25 30 35 40 45 50 55

[ [ [ [ [ [ [ [ [
50 55 60 65 70 75 80 85 90 95 100

93

@ Drill 68

Tl sea= 17 see= 4 2+4= 6
8+3=_||  uy+s=_[2 = 3+3=6
g+1=_9  s+0=_[8  1+8= 9
g+7=_[0  3+s=_|[ 5+3= 8
8+2=10  10+8=_|8 l+1=_ 2
g+4=_[2  7+i0=_1/ = e+s=|4
8+5=_3  6+2=_8  6+4=0

\D 6+8=_|4  o+1=_ll  2+6= 8
s+8=16  6+3=_9 = e+a=|5
5+8=[3  8+2=10  1+o=_|[
2+8=10  a+9=_18 = s+a=|/
a+s=|/  s+1= 4  2+7= 9
7+8=15  2+a=_ || gre=|4
8+8=16  4+u=_8  a+1=]0
1+8= 9  7+9=16  s+u=12

This exercise will test how careful you can be! The circles are counting by twos
and the squares are counting by fives. Fill in the missing numbers and then use
the letter clues to solve the riddle.

OEH WMo

RIDDLE
What is a slug?

<
51—
&[T
3O
ool
31—

>

<> Lesson 69
W ADDING AND SUBTRACTING BiG NUMBERS PART 2
/ ADDITION USING SUMSTIX

So far I have been very careful to only give you numbers to add where each column in your addition add
up to less than ten. In this milestone we are going to learn how to add any two 2-digit numbers. Let's
start with seeing how it works with Sumstix.

EXAMPLES
29+ 35
——— [ E—
E— e
I
E—
jE—
Rearranging the sticks we get:
—
I
} I [
—
I
Adding the shorter sticks: f ﬂ

Move the new ten to join the rest:

& a4

LESSON PRACTICE
Use Sumstix to find the answers:

55+18= /3 w+77=0] Q+13=_37

i+sa= /0 57+35=37  26+38=0

96



Drill 69

REVIEW AND PRACTICE

Tara was working on a jigsaw puzzle. There were 15 pieces on the table and 45 “1
still in the box. How many pieces were in Tara's puzzle? U 18-10 = 8 3-8 = 5 \7-7= |O
N— —
g-8=_10  n-g=_4  7-5= 2
60 9-8=__ | h-8=__ 3 -6= 3
Tara's puzzle had pieces. —_—
0-2=_8 18-5=_8  8-5=_3
Calculate:
M-8=_6  17-9=_&  a-2=_/
I8 g4 44 45
+6 | w1 | -13 -32 q-1=__ Q& 8-2=_ 6 B-a=_ 4
1-3=_ 8 a-1=_ 8 2-1= |
Count by twos: I7-8:_q 15-10 = 5 6_|:_5
o L -8 w2-_ 2 w0s- 2
2 4 6 81012 14 16 18 2022 2-4= &  10-1= 9 6-0= b
H-6=_ & o-2=_ 8 w6-7=_9
NEw DRILL DETAILS Subtracting eight is like taking away ten
and then adding two back on. On your 5-7= 8 5-Y= | 6-6= |O
The drills which follow practice the number chart you jump up one row then — —
following concepts and facts: move forward 2 squares.
e A number minus 8 Taking a number away from a teen is 10-8= —2 10-3= —7 18-9= —q
At tak b hich easiest if you take the number from ten
b een fake away a n,um er whic then add the answer to the units 5-8 = 7 5-92= 3 6-2= L}
is greater than the unifs. of the original number. See P — '
e Reviewing all previous subtraction Lesson 38 in book CI. Qe
drills \
97 98
Lesson 70
Let's "prove” this to ourselves with Sumstix.
UsING THE PLACE VALUE MAT
EXAMPLE
69 + 56 6q 5 6 First, add the short
sticks.
Y
h t 0 -y ——
| ——  —— |
— Y
Y
| ™ [ E—
I .
6 q So now we have: Group ten tens to get one hundred:
| E——
I — | E——  ——
| E— R —— [
5 6 Now we see why we need to [l e
start at this end. The units digit | E——  ——
<+ 9
— () goes here but the tens digit I —
i 1 (1) needs to get "carried over" [ E—
to the tens column. |O O 2O 5
LESSON PRACTICE

9+6=1S \ Use your place value mat fo solve the following sums then use the clues to
\& solve the riddle.
h t 0 63+28=11 ® a+55-01 (© asa7=_13l g

W=D @ 9= 8l @ yaeyz= 92 @)
7= /% @ s1+590=110 @y s3e7=_129

Again, we place the units digit RippLE
(2) here and carry over the

. ) . ) o
tens digit (1) but there's What is made of water but dies when it getfs put in water?

I
ol
516

ol

nothing in the hundred's
column to add so we just place
2 R the | where the answer should A N I C E B E R G
—]
nd g 9 92 10 & 151 95 181 95 9 74

1+6=7 a '
7+5=12 \
100




REVIEW AND PRACTICE

/3 /8 3l o0

II-3=

Fill in the missing numbers in the number chart patterns: 4-6=

0-2=

72 /M 313233
83 42
92 94 Y

I3-5=

Victor had 55 marbles. He gave 23 of them away. How many did he have left? d
GOLRE Il-8= 3-10= 3
0-8=_7 5-8=_/ 6-4= 7
Victor had Q marbles left, I7-9= 5-7= 6-5= |
16-8 = 7-8= 7-5= 7
Count by fives: 8-10 = 6-8 = 8| = 7
] N . o1 9
5 10 15 20 25 30 3540 4550 55 —
M-5=_9
Calculate: 12-4 = I5-10 = q_7=2_
21 64 52 64 3-8 = 3-3= 3-4= 9
457 1y 7 1y | —
L qg- q-4= 9-1= 8
4
2
5
2
[6)

O
I
o1
1
£
1l

2-8=

101 102

Lesson 71 REVIEW AND PRACTICE
UsING A PLACE VALUE CHART Wendy was cleaning her room and found 34 old coloured pencils and 44 new
coloured pencils. How many coloured pencils did Wendy find all fogether?

Let's use a place value chart to practice adding big numbers with carrying.

EXAMPLE

57 +78
Step 1: Write the numbers in Step 2: Add the ones Step 3: Add the tens
the grid. column. Carry over the ten. column. Carry over the ten.

h tlo h tlo h t|o Wendy found 78 coloured pencils.

| I
517 '\;( V4 517 Write the four equations represented by the number bond.
+ 78 + 8 + 718
5 [ 135
HZ+|:{5:8Z 82—':{2:':{5

(42)45) H5+42=87 87 -45=12

88 + 69 72+ 54 13+ &9 67 + 4

h|it]o h|it|o hit]o hit]o
Calculate:
26 67 73 33
+572 +2 1| -2 -2

+ + + +
57 126 102 6l 78 28 4| 2

31+73 93 +33 17 +96 44 + 97

Count by tens.
h|it]o hlit]o hit]o hit]o

s H Bl 6l /1 & 9 10l

e+ /4 &4 94 104 N4 124 134

+ + + +
10; 126 13 4 s__38 48 58 68 78 83 3

103




Drill 71

Lesson 72
ON PAPER
—6 |6 - 8 = —8 6 - 5 = | Now it's time to practice adding big numbers that involve carrying without the help of the place value
chart.
3-5=__ &  n-8=_4 -7 9 i
3-8=_ 5  w7-s=_ 9 7-4= 3 275 27+?L' 27+EI’L*
6-8=_ 8 7-9=__ 8 2-1= | 2 7 27
+ 54 + 54 + 54
0-8=__ 7 10-2=_8 9-5= Y4 | T
a-1=_ 8 5-1=_ 4 0-6= 4
18-8= |—O 10-4= —6 7-3= —L} \I/-\/Eristsecm:?ﬁnﬁ?gﬁ the grid and solve them. Then use the clues to solve the
riddle.
5-7=_ & 4-1= 3 m-9= b
27 +79 83+ 87 18 +39 13+ 28
i-3=_ 8 9-3=_ 6 7-2= b
JJ -8= g-9= 2-10 =
_3 _9 _2 . . . .
p-v=_8  a-6=_3  s=_2 106 70 57 4]
g-io=_ & nr-2=_ 10 6-6= 10 R A c :
q-8= | 0-7=__ 3 §-5= 3 RiooLe
What can you put in a glass but never take out?
5-8=_/  6-3=_ 3  5-6=_9
4-6=_ 8 6-4= 2 1B-9=_ 9
A CRACK
170 57 106 170 57 Hi

105 106

REVIEW AND PRACTICE Drill 72
syeoréiggeb%ekgr??sshellsonfhebeqoh. 13 of them were broken. How many =3— |L|_8=L |3_3=£
= we-8=_8  6-1= 5
_Zshells were not broken. 18-10 = 8— Ih-3= L 6-2= L}—
a-1=_&  10-8=_72  9-8=_|
Count by fives: |5_7=8— |3_5=L 6"‘}=2_
5 10 15 20 25 30 35 40 45 50 55 o-ze b was Lwas b
4-6=_&  6-3=_3 = 5-1= 4
Calculate: |2_8=|—]l— lé_é:L 3_2:|_
s | g ‘9 5-8= /  18-9=_ 4  0-1=_ 9
>33 231 - — L 7s- 9 06=4  1a=10
18 82 0 o0 -4=_ &  w0-9=_|  g-1= /
Fill in the missing numbers in the number chart patterns: |7_q=8— lz_szi |8'8=L
|7 73 25 6-8=_ &  m-4= |0 s5-2= 3
3= b 7-6=_| 0-4=_6
2 | z | 28 e - o
32; . 31 g-8= 10 a9-6= 3 B-10=_ 8
45




Lesson 73
27 +79 83 + 87 80 + 39 3l + 8l
+ + + +
106 170 119 12
D I E S
26 + 18 84 + 45 97 + 64 59 + 68
+ + + +
44 129 6] 12/
T H (0] N
QX+ 73 99 + 2| 65 + 9| 28 + 94
+ + + +
16/ 120 156 122
G W A B

RIDDLE
When is a car like a frog?

W H E N I [ S

— £

20 129 1 127 170 70 112
B EIT NG O AD
22 19 170 127 167 W4 16l 156 106

REVIEW AND PRACTICE

Abby was drying and putting away cutlery after a party. There were 41 pieces in the
draw and 14 pieces sfill on the draining board. How many pieces of cutlery were
there altogether?

There were 5 5 pieces of cutlery.

Write the four equations represented by the number bond.

(6) (49 H43+16=59 59-43=16

Calculate
62 21 63 34
+3 +56 -12 -23

Adding seven is like adding ten then

NEw DRiLL DETAILS

The drills which follow practice the
following concepts and facts:

taking away 3. On your number chart you
can drop down a line then move back 3
squares.

109

@ Drill 73

2+7=_ 9 3+7=10  1+9=0
o+7=1/_ 7+6=_13  8+1=9
yez=_|l  7ew=_Il 3+s= [
7+5=_17  7+3=_10  3+9=[2
+7=8  7+8=_15  2+2=H
g+7=_15  3+2=_H  3+10=[3
7+9=_16  a+1=_|0  4+2= 6
7+1=_8  2+10=_12  4+10= |4
7+0=1/  2+8=10  a9s2=_[
7+7= 14  e+1=_/  5+8=[3
6+7=13  8+2= 10  9+9=18
7+7= 14  g+a=1/  e+g=[4
a+7=16_ 1+0=_[  s5+9=[4
7+2= 9 e+a=15  2+41= 3
5+7= |7 5+2= /  2+a=_||

111

e A number plus 7
e 7 plus a number

e Reviewing all previous addition drills i\

OR Review Lesson 34 in book CI for
another way to do it.

EXAMPLE

Step 1: Build the first number.

110

Lesson 74

SUBTRACTION USING SUMSTIX

This problem will be easier if you
think of the 29 as if it is in
expanded form: 29 = 20 + 9

56 -29 <

Step 2: Take away the 20. Step 3: Now find a 9.

Step 4: Take the nine away.

i
| can't take nine from .

Step 5: The final answer.

56-2‘%=£

1
six so | need to K
'borrow' a ten. Now | \)

Just need to find a

stick to fill in this gap.

LESSON PRACTICE

Use Sumstix to solve the subtractions then use the clues to solve the riddle.

75-69=6___ (A
si-37=1/  ®

97-58=39_ (D)

RIDDLE

3-3=18 ® -7/ ®

i-28=36 () 2-8=8 U

52-36=16 (0 uw-28=12 @

What do you call a sleeping bull?

A B U
Y

L L DO/
36

oo|[M]

R
7

8

36 39 16 12

112



REVIEW AND PRACTICE

Continuing the problem from last lesson. The cutlery set originally had 72 pieces
but Abby's mother put some pieces in storage because they were rarely used.
How many pieces are in storage?

| 7 pieces are in storage.

Count by twos:

2 4 6 81012 14 16 18 20722

Calculate:

33 52 35 53
+Y45 +Y43 -22 -4
/8 95 13 2
PuzzLe

Fill in the missing numbers in the first grid then use the second to make your
own!

N
+
N
n

r

+
+
+

113

Lesson 75

SUBTRACTION USING A PLACE VALUE MAT
Last lesson we saw that, when we subtract two digit numbers, we sometimes have to "borrow" a ten.
When we do this on paper, there are two different ways to perform the calculation. One is called the
"borrow and pay back" method and the other is called the "regrouping” method.

EXAMPLE 1: BORROW AND PAYBACK
52-38

Step 1: Make the problem up on the place Step 2: Borrow and payback.

value mat

h t 0 h t 0
5 2 51012
3 3

- - I
\ We can't %
We pay back' % N Subtract
the ten herel ) eight
) from two, so we
'borrow' ten.

Step 3: Subtract the one's column. Step 4: Subtract the ten's column.

h| t 0 h t 0
5 | 2 ;fzefopluszis 5 | 2

1 ten plus 3 tens
is 4 tens.

Y 4

Five take away four is)
one. (S tens take N N

away 4 tens is | ten.) \\"

Twelve take away
eight is four.

N
A&— 115

)J

Drill 74

7+a=_|6  3+a= [2
9 7+s=_ 15 s+2- 10
2+7=_ 9  7+7=_[4  1+2= 3
7+3=_[0  6+7=_13  e+s= |4
8+7=_| 3+7=_10  2+2= 4
7+7=_14  6+10=_16  u+s=_[2
7+10=_|/  7+2=_ 9
7+5=_17  s5+8=_ |3 o+1=_ |l
+7=_ 8  2+8=_|0  3+2=_ 5
5+7=_17  3+10=_|3  4+a= |3
7+6= |3 4+i0=_ |4 v1=_ 2
o+7=_1/ 2+10=_172 1+a=_ |0
a+7=_ 6 6+1=_/  5+1=_ b6
y+7=_ |l isi0=_ |l 0+2=_172

7+1=_ 8 10+a=_[9 10+10=20

7+'—}:
7+2=_9

9+10= |9

114

I prefer the "borrow and payback" method because it always works just as described in the example
above, it is simple to learn and perform and, therefore, is less prone to errors. It is also the way that all
computers do subtraction internally. Some people prefer the regrouping method so I will describe it here.

In a later level, I will explain why and how both of these methods work.

In this method, step 4 is a tiny bit easier, but

step 2 can get quite tricky.
52-38 3/ l

Step 1: Make the problem up on the place value | Step 2: Regroup.

mth t o h t o
5 ) pus 12 mee. | U 12
3 3 8

We can't subtract eight? 3
from two, so we regroup
the $2. |

EXAMPLE 2: REGROUPING

Step 3: Subtract the one's column. Step 4: Subtract the ten's column.

h t o h

t | o
1] [ 12
0|50 | | e
| e

Twelve take away Four take away
eight is four. 2 three is one.

A\
“S‘& 116 :




LESSON PRACTICE
Use your place value mat and digit cards to solve the following subtractions.
You may use either of the methods described in this lesson.

After you're done, use the letter clues to solve the riddle.

63-56=/ (A 4H-6=_25H 2-28=4 (9

65-46=19 ® 73-67=6__ K 62-5=4/ M
85-4=3/ (C) 8-73=8 (N 55-29=26 ()
M-57=1/ ©) 4e-18= 28 0  83-45=_38 (W)
73-8=45 ® ¢-5=36 ® 853-39=14 (v
RIDDLE
Why do bees hum?
e B E CAWU S E
9 95 37 7 26 4 95
T HEY D O N T
4 2% 15 M 7 28 8§
K N O W T H E
6 8 28 38 47 25 45

@ Drill 75
6+7=_13  we7=_ Il ev2= 8
7+0=_1/  7+7-_4  4e2-= 6
7+6=_13  7+3=_10 10+2= 12
3+7=_15  7+u=_ll 4+1=_ 5
7+1=_ 8  7+7=_I4  as2= |l
7v2=_ 9 evi=_/  a+2= 4
7+8=_15  svi=_ 4 w0=_ I
o+7=_1/  g+a=_12  aq+1=_[O
+7= 8  w+i0=_ 14 241= 3
7ea= |6 742-= 9 se1=_ 9
5+7= |2 10+a=_19  3+0-_I3
3+7= 10 qeq=_ |18 +q=_ |/
2+7=_ 9 s5+2-_ / 0+10=_20
7+5=_ 12  1+5=_ 9 3+2- 5
q+7=_ 16 1+2-=_ 3 2+3-_ 10

REVIEW AND PRACTICE

Blake went bushwalking and saw 32 birds flying or perched in tfrees and 16 birds on
the ground. How many birds did he see all together?

Blake saw é; birds.

Find the missing number in the number bond then write the four equations
represented by if.

@) e54-79 77554
@@ b4+256=/79 /9-54=725

Calculate:
24 43 63 34
+62 +26 -33 -32

86 69

Count by fives:

= 10 15 20 25 30 35 40 45 50 55
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Lesson 76

SUBTRACTION USING A PLACE VALUE CHART
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EXAMPLE
88 - 69
Using borrow and payback.
hjt|o hit]o hit]|o h|t]|o
B 8 8|8 8|’
- 619 ~ 619 = 619 = 6] 9
P8 d 19
Q’Bomw and 18-9= 9\ 5
payback. \ g-7=1 \‘X’
Using regouping, 7
h|t h|t]|o h|t]|o h|t]|o
8 % |18 %18 %18
- 6 - f/’ 9 = 619 ~ 6119
o 9 K
gj/kegmup. 18 -9= Qj} - }V
LESsON PRACTICE \ )
Use your favourite method to solve the subtractions: -
73-19 q4 - 69 72-126 83-75
h|t]o h|t|o hlt]o h|t]|o
o4 /5 H6 8
6l-17 23-18 82-38 x-77
hit|o hit]|o hit]o hit]|o




REVIEW AND PRACTICE

Chloe was colouring pictures. If she had 48 pencils all together, and 12 of them
were on the table, how many were still in her pencil case?

3 é pencils were in her pencil case.

Count by tens.

3 4 5 6 /71 8 9 10|
v /7 & 97 10/ N/ 127 137

%8 68 /&8 88 98 108 118 128

Calculate:
26 62 23 34
+4 + 11 =11 -4

67 73 2 20

Fill in the missing numbers in the number chart patterns:

| 47 |48 |
2 o8

3l |32 | 33 68

Lesson 77

SUBTRACTION ON PAPER

Let's remove the place value chart and subtract on paper.

EXAMPLE
64-19
Borrow and payback:
6 4 6 4 6 ' 6 '
- 19 — — a9 - A9
5 4 b
Regrouping:
6 4 6 M s % 4
- 19 - 19 - 19 - 19
5 4 b

LESSON PRACTICE

Use your favourite method to solve the subtractions then use the letter clues to
solve the riddle.

55 -48 92-86 ar-42 95-59

/ 6 H9 36
L

E

RIDDLE
What vegetable are sailors afraid of?

L E E K §

6 7 7 149 36

123

)J

Drill 76
9+7=_16_ 7+5=_12  3+1= 4
7ed=_Il_ 7vi0=_1/_ 8+2= 10
+7=_8  s+7=_12  10+2=_12
2+7=_9  7+a=_16 1s1= 2
7+2=_9  3+7=_10  0+1=_ |l
7+3=_10  s+10=_[5  6+3=15
7+7=_1%  uvi0=_I4  7+9=16
ye7=_Il ev0=_16  3+s=_|l
7+1=_ &  7+10=_1/ = s5+8=_[3
7+6= 13 u+1=_ b5  y4e2= 6
7+8=15  a+0=19  a+1=10_
s+7= 15 e+2=_ 8  as2= |l
7+7= 14 1+2=. 3 s+2=_/
6+7= 13 y+g= 12 2+q= ||
o+7= 1/ 8+a=_1/  1+94= 10

REVIEW AND PRACTICE

Daniel had two boxes of cookies fo share with his friends. If each box contained 42
cookies, how many cookies were there all together?

There were 8L} cookies all together.

Find the missing number in the number bond then write the four equations
represented by if.

® 2+ 45-2-2

(22)(23) 23+22=45 45-23 =122

Calculate:
23 I 6 5 71
+74 +472 — -5

q7 58 4 20

Count by twos:

2 4 6 810 12 14 16 18 20 22
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Drill 77

7+7=14  w0+7=1/  7+a=|
Y+7= 3+7=_[0Q  10+10=
a+7=16  1+7= 9+10 =
7+4= 7+2= 2+8=
7+7=14  5+7= 6+8=
7+3=10  2+9= 6+2=

&

(@)

I — — — — = |—=

7+10 = 5+8= g+9=
7+1= 0+2=_|7 8+1=
6+7= |+2= 4+9=
247 = 6+10=_|6  3+8=
7+5=17  a+2=_|[  5+I0=
g+7=15  3+2=_hH  3+1=
7+6=13  5+i=_ 6 1+8=
7+9=16  9+9=_[8  4+0=
7+8=| o+1=_|| 2+1=

REVIEW AND PRACTICE

Edith had 75 stickers. She gave 11 to one friend and 23 to another friend. How
many did she have left?

Edith had stickers left.

Count by fives:

Calculate:
4 45 52 238
+53 +33 -3 -1

6/ /8 2l 17

PuzzLE
Fill in the missing numbers in the first grid then use the second to make your

own.

oo
+
o~
n

6l+13]=19

Lesson 78

SUBTRACTION PRACTICE
Use your favourte method to solve the following subtractions, then use the

letter clues to solve the riddle.

52 - 44 g4 -45 Hl - 32 54-39

8 39

C D

E H
96 - 37 H-27 64-29 55-28

o 6/ 39 2/

I L M N
84-56 43 -39 81-63 24-17

78 g B
(0] T

V]

<

RIDDLE
Did you hear about the boy who only knew 25 letters of the alphabet?

NO ONE COULD

27 28 28 27 9 & 28 18 67 31

T ELL HIM.Y,

4 9 67 67 5 53 35 7
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@ Drill 78
o,

7+7=_[4 4=
7+1= 7+6=_]3  10+I=
Y+7= 7+10=_1|/ 10+2=
5+7= 1+7=_8  7+10=
9+7=_|6  5+l0=
7+5= Y+2=_6H  2+9=
7+7= 3+9=_1]2  a+10=
6+7= d+2=_ | 10+9=
3+8=_ ||  9+a=
g+7= 6+1=_/ 9+=
1+2=_ 3  2+I0=
l+a=_|0  4+8=
3+7=_10 2¢1=_ 3 8+9=

2+7= 9 6+2= & 2+2=

7+9= | 6+10= |H 3+1=
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Lesson 79

ADDITION AND SUBTRACTION WORD PROBLEMS

A man had 64 crates of apples. He sold 27 of them at a market. How many did

he have left fo sell?

The man had 3 7 apples left.

Old Macdonald had 35 cows in one paddock and 47 in another. How many
cows did he have all together?

Old Macdonald had 82 Ccows.

A baker made 50 loaves of sandwich bread in the moming. At the end of the
day, there were 14 loaves left. How many loaves of sandwich bread did the

REVIEW AND PRACTICE

Freddie started with 15 dollars. He earned 11 dollars by washing the neighbour's car
and then he spent 14 dollars on a toy. How much money did he have in the end?

Freddie had l dollars.

Find the missing number in the number bond then write the four equations
represented by if.

(64  32+32=¢H

@@ 64-32=32

Calculate:
37 71 62 25
+52 +26 —-12 -23

80 q7 50 2

Subtracting seven is like subtracting ten
then adding 3. On your number chart you

NEw DRiLL DETAILS

baker sell?

The drills which follow practice the
following concepts and facts:

e A number minus 7

e Reviewing all previous subtraction
drills

can drop down a line then move forward
3 squares.

Remember that taking a number away
from a teen is easiest if you take the
number from ten then add the
answer to the units of the

The baker sold 36 loaves.

129

Drill 79

-7=_2  w-4=_/  3-2= |
I5-7= 2-5=_/  6-2= 4
-7=_Y4  15-a=_ 6

6-a=_/  10-7=_3  a-8=_ |
7-7= 5-8=_/  1B-9=_ 4
3-7= 0-8=_7  n1-10=_9
l6-7 = §-3=_H  10-3=_/
2-7= H-10=_Y4 = 8-2= 6
3-6=_/ 6
o)

0

131

original number. See Lesson 38
in book Cl.
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Lesson 80

CHECKPOINT TEN @
RIDDLE -

Use your favourte method to solve the following subtractions, then use the
letter clues to solve the riddle.

24 - 14 52-15 51-25 53-13
A E H I
33- 14 43-35 a4-18 84 - 46

9 8 /6 38
M

L N 0

66 -49 a7 - 68 88-79 73-39

1/ 29 9 34
P S T Y

How much dirt is there in a one metre deep hole?

NONE A HOLE

76 38 76 37 10 26 38 19 37

I S EMP T Y,
8 q

40 29 37




RIDDLE
24+ 38 26 +28 35 + 65 66 + 27
+ + + +
62 b4 100 93
A D E F
25+ 56 62+18 33+28 28 + 69
+ + + +
8 80 6l 9/
H L N (6]
46 + 19 31+ 59 4 +57 65 + 37
+ + + +
65 90 /| 102
P N T W

What is as big as an elephant but lighter than a feather?

IZIE S HA DD OW

100 90 8 62 54 B4 97 02

O F _AN
6 6

97 93

E L EPHANT

I00O 80 100 65 8 62 61 7l
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Resources

The following pages contain various resources for use with some lessons in this book. Where noted, you
may photocopy some of these pages to use multiple times, ot to save paper waste and expense, you can
make those sheets reusable by laminating them or placing them in sheet protectors and then allowing

your child to use a whiteboard marker to complete the activity.

9-9=
q-8=
5-7=
3-10 =
I0-3=
5-8=
7-7=
-7 =
3-7=
0-6=
4-9=
8-6=
9-7=
4-10 =
3-6=

Drill 80

2-7=
5-5=
§-3=
7-10 =
l6-9=
9-10 =
0-8=
§-1=
3-9=
6-7 =
0-7=
5-9=
7-7=
7-2=
8-2=
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Blank grids for
calculation practice

This page may be photocopied as required.

Blank ten frames for
calculation practice

This page may be photocopied as required.




Number Chart

This page may be removed from the book to facilitate ease of use.

Alternatively, a high quality laminated version is available in the
resources section of the Milestone Maths website.
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making maths simple

Digit Cards For Place Value Mat

O

oo O NN O

0
2
.
6
3

/
4
6
8

O J Ol oo

O N o1 o

O J Ol oo




its

000 |

22233 3
H4 55050

6 66777
§ 8 & 4999

ds

ndre




